Question Paper Preview

Notations :
1.Options shown in green color and with %" icon are correct.

2.0Options shown in red color and with * icon are incorrect.

Subject Name : Scientific Assistant (Lie-Detection)
Creation Date : 2021-10-01 19:31:20
Duration : 120

Total Marks : 200

Display Marks: Yes

Share Answer Key With Delivery Engine : No

Actual Answer Key : Yes

Calculator : None

Magnifying Glass Required? : No

Ruler Required? : No

Eraser Required? : No

Scratch Pad Required? : No

Rough Sketch/Notepad Required? : No

Protractor Required? : No

Show Watermark on Console? : Yes

Highlighter : No

Auto Save on Console? ( SA type of questions will be always auto saved ) : No

General Ability
Group Number : 1
Group Id : 976755650
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Ability

Section Id : 9767551080
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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 97675519603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the letter-cluster series given below:

KNOW, PISR, UDYM, ZYDH, ETIC
Options :

1. ¥ PISR

2. % UDYM

3. % ZYDH

4. % ETIC

Question Number : 1 Question Id : 97675519603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferRad 31&R-THg SR ¥ Teid Ug J1d HIIT:

KNOW, PISR, UDYM, ZYDH, ETIC
Options :

1. ¥ PISR

2. % UDYM

3. % ZYDH

4. % ETIC

Question Number : 2 Question Id : 97675519604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter-cluster series given below:

M13SX, R18XC, W23CH, B2HM,
Options :

1. % HIMR

2. % I7TMR

3. ¥ G7TMR

4. % G7NR

Question Number : 2 Question Id : 97675519604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad 31&R-THE g ¥ W Ug JTd SHIfoid:

M13SX, R18XC, W23CH, B2HM,
Options :

1. ¥ HTMR

2. % ITMR

3. ¥ GTMR




4. % GTNR

Question Number : 3 Question Id : 97675519605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the letter triad from the given options which follows the same relation as shown below.

(IYZ,LTG, OON)
Options :

1. # CEQ, FZR, ILU
2. % HYE, KWQ, NOB
3. ¥ YSK, BNR, EIY
4. % TEQ, QKL, NXC

Question Number : 3 Question Id : 97675519605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fu U faemed 7 ¥ I faded o7 Tg &% Sl U & UM et T IR0 3l g |

(IYZ,LTG, OON)
Options :

1. % CEQ, FZR, ILU
2. % HYE, KWQ, NOB
3. ¥ YSK, BNR, EIY
4. % TEQ, QKL, NXC

Question Number : 4 Question Id : 97675519606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related word pair from the given alternatives.

Fabric : Cotton : : ?
Options :



1. ¥ Electric current : Electron
2. # Chair : furniture

3. % Wood : wool

4. # Gold : light

Question Number : 4 Question Id : 97675519606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3u 7Y fasmedl § O Hefdd <eg I &1 0 B |

hUSl . U : : ?
Options :

1. ¢ fagqgdunT : 3dagiA
Z.Wﬁ:q’;fh?

3. % hol: B

4. % G : b1

Question Number : 5 Question Id : 97675519607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If PUT = 57 and SIT = 48, then what will be the code for SOFTWARE?
Options :

1. ¥ 107

2. % 119

3. % 217

4, % 234

Question Number : 5 Question Id : 97675519607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I PUT = 57 3R SIT = 48 B, A1 SOFTWARE T IS &1 B2

Options :



1. ¥ 107
2. %119
3. % 217
4. % 234

Question Number : 6 Question Id : 97675519608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among 5 persons, Misha is elder to Krish, who is not the youngest. Disha isyounger to Ansh, who is younger to Vishal, who is elder to Krish.
Vishal is not the eldest. Who is younger than only one person?

Options :

1. * Ansh
2. * Krish
3. % Vishal
4. #* Misha

Question Number : 6 Question Id : 97675519608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U faaal § §, ey 3 931 8, S i 9ad oier 761 g1 faxm, S ¥ 31t B, S fanna A sler 3, o v A 991 7 | fane qad 51 78t
g1 Had U dfad J Blel B g2

Options :

1. % 39

2. % pY

3. ¢ fagma

4. % for=m

Question Number : 7 Question Id : 97675519609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is on the 15th place from left and B is on the 7th place from right in a line. There are three persons between them and C is on the immediate
left of A. Which place is of C from the right ?



Options :
1. % 8th
2. % 9th
3. % 10th
4. ¥ 12th

Question Number : 7 Question Id : 97675519609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
wt'r%%ﬁAaT'qﬁ15&%11?%33?33111@7%%@%Wﬂ%ﬂ?ﬂqwﬁr%shvc,A$ﬁwﬁaﬁam%|aﬁﬁcmw
R[5 ?

Options :

1. % gqi

2. % ogi

3. % 10d

4.+ 124

Question Number : 8 Question Id : 97675519610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:
All mirror are water.
No water are ice.

Conclusions:
(I) Some water are mirror.
(IT) No ice are mirror.

Options :

1. # If only I follow

2. % If only II follows

3. ¥ If both I and II follow



4. % Tfneither I nor II follows

Question Number : 8 Question Id : 97675519610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofeiead vs 1 & sy AT U & e a1e &l sy 19 11 U TTU & 3! 37 YT 1 G HIFHT &, Wl 81 4 Fdgrd a2l 9 et uefia
gid 81 | fau U Frem el & 9 31 91 e AU 70 o &7 difdhs ©0 § S8R0 dRal 5 |

HY:

Tt U O B

H1E U 96 TS B

fsep:

() $S UM 0T B

(1) BT T YU & B |

Options :

1. % $Had FT5HY [ 3FIERU Sl §

2. % Had BN 11 IR0 Hal §

3. ¢ QI SR [ YT 11 3IT8R0T R &
4. % 3 freend 17 € sy 11 SR a1 ]

Question Number : 9 Question Id : 97675519611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:

Few bags are purse.
Few purse are money.
All money are expenses.

Conclusions:
(I) Some money are purse.
(IT) Some expense are not bag.



Options :

1. ¥ If only I follow

2. % If only II follows

3. # If both I and II follow

4. % If neither I nor II follows

Question Number : 9 Question Id : 97675519611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad gy & 9 oy e 7w 8 e a1e &) e 19 11 fRT U § 3iueh! 39 Y=l &) I A1 8, Hal 81 9 Fagnd awt 3 fue udia
gid 811 fou e fmef & § &1 a1 fepdf 3T 78 2= &1 difthes 0 I ORI HRaT ] |

bl SR

o] |
3T U g
T T @

fAsp:
OEERECRE]
(1) $S T 81 6.

Options :

1. ¢ $acl ey [ 3TIRU BT 3

2. % Had BN 11 IR0 Hal §

3. % QAT S 1 T 11 3FIRRUT B ©

4. % 3 freend 177 8 Fspy 11 SraRu BT ®

Question Number : 10 Question Id : 97675519612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by three conclusions numbered I, II and III. You have to consider these statements to be true, even if they seem to
be at variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:
All curtains are furniture.



Some furniture are chair.
All chairs are table.

Conclusions:

(I) Some tables are curtains.

(IT) Some chairs are furniture.
(IIT) Some furniture are curtains.

Options :

1. # If only I follow

2. % If only II follows

3. % If only I and II follow
4. % If only II and III follow

Question Number : 10 Question Id : 97675519612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad oy & o U= AU MU g RS9 a1g i e 1,11 T 111 f3U U § 30! 3 S & I AT 8, Hal 81 3 JdeTd a9 g
gdid g 811 fou e fsersf & § o1 a1 feesdf 3T 78 2 &1 difthes 0 I S9R0 Rl ] |

fm:
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11 . |
Eni)%qo—rf&l?ﬁ%"l

Options :

1. % Had FpY 1 SFIER0T Rl §

2. % Had BN 11 SR Hal §

3. % Hhad ApY [ IUT 11 IR0 HRd §
4.« Had [TSHY 1 TUT 11 SFIIRV Hd &



Question Number : 11 Question Id : 97675519613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following series?

14,17,22,29,38,?
Options :

1. ¥ 49

2. % 47

3. % 37

4. % 46

Question Number : 11 Question Id : 97675519613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefad 9o & uyas® g (2) & R R 347 3711 91fed?

14,17, 22,29, 38, ?
Options :

1. ¥ 49

2. % 47

3. % 37

4. % 46

Question Number : 12 Question Id : 97675519614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following questions, a statement is followed by two conclusions. Choose the correct option based on the given statement.

Statement:
C>D,A<B,E=D,B<C

Conclusions:



(A)C<E

(B)A=E

Options :

1. #® Only conclusion A follows

2. % Only conclusion B follows

3. % Either Conclusion A or B follows

4. ¥ Neither conclusion A nor B follows

Question Number : 12 Question Id : 97675519614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad ve o, T %A & 916 ol Fepy 3T MU § 1 faU U %[ & SR R 9t fadwed g |

hY-:
C>D,A<B,E=D,B<C

T

(A)C<E
(B)A>E
Options :

1. % Had FHY A SIERUI TRl 5 |
2. % Had [SHY B STURUI H §
3. % I el fsh s A 1 5B B ORI T &
4.« I Tt A 7 FHY B SORUI HRAT®

Question Number : 13 Question Id : 97675519615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If “+’ means subtraction, ‘+’ means addition, ‘<’ means multiplication and ‘>’ means division, then find the value of the given statement.
9+7<8>(4>2)+5.

Options :
1. ¥ 32



2. % 18
3. % 16
4. % 11

Question Number : 13 Question Id : 97675519615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfg <+ BT AdAd § GSHI, = B AAd g OIS, <’ BT HIAd g T 3R, <> BT HIAd § T, df 3 aaded BT {1 J1d DI |
9+7<8>(4>2)+5

Options :
1. ¥ 32
2. % 18
3. % 16
4, % 11

Question Number : 14 Question Id : 97675519616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents shopkeeper, circle represents debit card, pentagon represents credit card, rectangle represents online
payment and square represents cash.

What does letter ‘E and K’ represents?




Options :

1. #® Shopkeepers who accept online payment, credit card, cash but not debit card
2. ¥ Shopkeepers who accept debit card, credit card, cash but not online payment
3. # Shopkeepers who accept debit card, online payment, cash but not credit card

4. ® Shopkeepers who accept debit card, credit card, online payment but not cash

Question Number : 14 Question Id : 97675519616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad s &, Ays geR &1 ufafAfia Rl ], 99 Sfac ®Ts &1 UfdfAfia Bl §, TaHIUl hiSe BT Bl Ui B 6,
3T AT YA BT Ui dal § 3R a7 Adhe &1 UfafAfid dxar g

&R “E 3R K forget ufaffda g2

Options :

1. % IHMER S AT YT, Hisc HIS, 7Ha WIHR B g Al S HIS gl
2. ¥ THMGR oll ST HTS, HfSC HTS, AHE WIHR HRd g b AT YT Ta!
3. % GHIMGR oIl SfAC BT, TS YA, THa WIHR B § Al hISC HIS ol
4. % HCR SNl SfIC HTS, hiee HIS, 3farE YA WIHR HRd & Al AHa gl |

Question Number : 15 Question Id : 97675519617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following figure, triangle represents fast food, circle represents dessert, hexagon represents breakfast, rectangle represents restaurant and
square represents non-veg food.

What does ‘16’ represents?

9
g LN 12
10
61 15
19
""\ 14
16 E\ 17
i 2 3
18
5
'\13/

Options :

1. # Restaurant which are best for fast food, dessert, breakfast but not non-veg food
2. % Restaurant which are best for dessert, non-veg food, fast food but not breakfast
3. % Restaurant which are best for fast food, non-veg food, breakfast but not dessert

4. % Restaurant which are best for dessert, non-veg food, breakfast but not fast food

Question Number : 15 Question Id : 97675519617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed sma & Ay BRe Es &1 ufafAfiia &ar 3, 3d et &1 ufafftia @ar 8, Yeyst ARd &1 ufafAfia &ar 8, Smad IR
o1 Ufaffera exar § SR ol AieRY 4o &1 ufafAfia HRar gl

‘16* forge ufaffa g2




Options :

1. % TR S BRE B8, fHaTs, A1Rd & foIu Je 3 § difed AimeR HisH & fod & |
2. % IERT S oS, AR HISH, BRe TS & 7T Jod 3/ € dfd 1= & forg et
3. ¢ J&RI Ol BRE TS, HIATERT HISH, ATRd & file Ted 3w § dfds fiaTs & fod =gt |
4. % JRT o YaTS, HRTERY HISH, 1R & forT e 3/ § afdd ®ie s & fore =1g!

Question Number : 16 Question Id : 97675519618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will replace the question mark (?) in the following figure series.

R 0 | G U




=
¥

Question Number : 16 Question Id : 97675519618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3BT BT g9 DX S FgfeiRad spfa gaar o uy fag (2) & ufaeifd s |



[IPHF)

Wl

Options :




Question Number : 17 Question Id : 97675519619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one in which the Question Figure is hidden/embedded.

&

Options :

Ca
e

(S

®s




“e

Question Number : 17 Question Id : 97675519619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu 7TQ faeent & 9, I 1P o1 99 B 7 uy 3nepfa srafifea / fodt g2

Options :

a

&




®s

@

Question Number : 18 Question Id : 97675519620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one which is the mirror image of given Question Figure

Z,a"f, f.f_._.f. ,-'"'Il,.-'! //lrll,-/;_,}x /{_.a"';"f =

Options :




3.¢

Question Number : 18 Question Id : 97675519620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U fametl § 9, 39 STH A &1 99 B Sl fal T UY 31Hid T U0l ufafara g |

N ETEFETEre -
I_l-‘l._lllllr lIII. A I.Jl_fi _-"rl."' /r P

;o
=177/



Options :

3. ¢

Question Number : 19 Question Id : 97675519621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the number of triangle in the given figure.



)

Options :
1. % 13
2. % 15
3. 14
4. % 12

Question Number : 19 Question Id : 97675519621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7S arepfa § By &) T Trd B

/A

Options :
1. % 13
2. % 15

3.¥ 14
4. % 12

Question Number : 20 Question Id : 97675519622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one that will complete the question figure.

7N
N

Options :

7R\
w |

1. %

N




N

Question Number : 20 Question Id : 97675519622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U fa el O @ 39 fabed &1 AU S Uy 3HThid &l R dR|

?

7

F |

1. ¢



N
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General Awareness

Section Id : 9767551081
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551254
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675519623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Charminar monument is located in-
Options :

1. ®* Lucknow

2. % Belagavi

3. % Hyderabad

4. % Bengaluru

Question Number : 21 Question Id : 97675519623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IRUMR RS AR &-

Options :

1. % 8IS |

2. % qeTia

3. ¥ BREIG H

4. % dUqe U




Question Number : 22 Question Id
Orientation : Vertical

: 97675519624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
In which year was the Jaisalmer Fort built?

Options :
1. % 1123
2. ¥ 1156
3. % 1178
4. % 1189

Question Number : 22 Question Id
Orientation : Vertical

: 97675519624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

SRR &1 fHar g av g+ mar U

Options :
1. % 1123
2. ¥ 1156
3. % 1178
4. % 1189

Question Number : 23 Question Id
Orientation : Vertical

: 97675519625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Kathakali 1s a dance-form of-
Options :

1. # Karnataka

2. % Uttar Pradesh

3. ¥ Kerala

4. ® QGujarat

Question Number : 23 Question Id

: 97675519625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HYH TP IR &-

Options :

1. % HICH PI
2. % IR UG DI
3. ¢ R Bl

4. % TORId DI

Question Number : 24 Question Id : 97675519626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full-form of IFSC in banking?
Options :

1. ¢ Indian Financial System Code

2. # International Financial Systematic Coding
3. # Indian Fund Synchronization Code

4. ® International Fund Synchronization Code

Question Number : 24 Question Id : 97675519626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SfHTH oS UH. T, (IFSC) &1 YUl &Y H1 52
Options :

1. ¢ 3T BreARTd Rer oig

2. % YA BIRARAd RRCHACH BiIfST

3. % ST e Rip oA Bl

4. % A B8 R HRoIRM B

Question Number : 25 Question Id : 97675519627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

As per the Union Budget 2021, the FDI in insurance sector has increased to-
Options :

1. #* 49 percent

2. % 55 percent

3. % 74 percent

4. % 81 percent

Question Number : 25 Question Id : 97675519627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Helg Fole 2021 & TAR, AT &7 T TH.S1.3MTS. B IS §s -
Options :

1. % 49 UfA=Id b

2. % 55 GfcIRId db

3. ¢ 74 U1 db

4. % g1 Yfd=rd dob

Question Number : 26 Question Id : 97675519628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did J. Chadwick discover a sub-atomic particle which was eventually named neutron?
Options :

1. % 1930

2.9 1932

3. % 1934

4. % 1936

Question Number : 26 Question Id : 97675519628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

. Arefd® A fhd a9 H U IU-URATY] 60T 1 Wiel B! o1y 3fdd: <gi- 4 fear mam



Options :
1. % 1930
2. % 1932
3. % 1934
4. % 1936

Question Number : 27 Question Id : 97675519629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Helicobacter pylori is responsible for-
Options :

1. ¥ Peptic ulcers

2. # Typhoid

3. ¥ Malaria

4. # Chicken Pox

Question Number : 27 Question Id : 97675519629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gioTTadeR UBaR] fodds fre fomieR 87
Options :

1. ¥ OfY 90T (WD Sfe)

2. ®% CIRPIgS

3. % HaRar

4. % foepe] Ul

Question Number : 28 Question Id : 97675519630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following soils is known as the ‘Regur soil’?
Options :



1. # Red Soil

2. # Alluvial Soil
3. % Black Soil
4. # Laterite Soil

Question Number : 28 Question Id : 97675519630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad 7 3 fea ger & R ger & | d S S 82
Options :

1. % olcl Hal

2. % Sl Hal

3. ¢ BIdl gal

4. % Qg AT

Question Number : 29 Question Id : 97675519631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a tributary of Ganga?
Options :

1. % Ghaghra

2. % Kosi

3. % Manas

4. ¥ Mahananda

Question Number : 29 Question Id : 97675519631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFoffead & 9 o1 11 &1 Hgras I Ta 82
Options :

1. % YT



2. % HT
3. ¢ A
4. % HGHQl

Question Number : 30 Question Id : 97675519632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following was the successor of Chandragupta Maurya?
Options :

1. # Ashoka

2. ® Samudragupta

3. ¥ Bindusara

4. % Bimbisara

Question Number : 30 Question Id : 97675519632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FofRed # ¥ 319 e 4 & SIRIYGRT A2
Options :

1. % 3D

2. % FHEE

3. ¥ T9gER

4. % fifeurR

Question Number : 31 Question Id : 97675519633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was Akbar’s age when he became the ruler?
Options :

1. % 10 years

2. ¥ 13 years



3. % 16 years
4. % 18 years

Question Number : 31 Question Id : 97675519633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fheR DI IY T &t Td Ig AP T2
Options :

1. % 109l

2.9 1391

3. % 16 9T

4, % 1891

Question Number : 32 Question Id : 97675519634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Brahmo Samaj founded?
Options :

1. % 1825

2.9 1828

3. % 1835

4. % 1842

Question Number : 32 Question Id : 97675519634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&1 AT &1 IO ford au gg e
Options :

1. % 1825

2.9 1828

3. % 1835



4. % 1842

Question Number : 33 Question Id : 97675519635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of the book ‘Untouchable’?
Options :

1. # Arundhati Roy

2. % William Dalryample

3. ¥ Mulk Raj Anand

4. # Khushwant Singh

Question Number : 33 Question Id : 97675519635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T TP &b AWDH DI 87
Options :

1. ® 3r5yf g

2. % fafern Safega

3. ¢ Hoob S 3G

4. % QRrdd g

Question Number : 34 Question Id : 97675519636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Indian filmmaker has bagged the Oeil d'or (Golden Eye) award for Best Documentary for the film 'A Night of Knowing Nothing' at
Cannes Film Festival?

Options :

1. ¥ Payal Kapadia

2. # Alankrita Shrivastava
3. % Aadhya Anand

4, % Aahana Kumra



Question Number : 34 Question Id : 97675519636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fore YRt e fAmfar 3 & fired 9uRIE # fihed T A1ge Sifts g AT & foe wads gafad & o iga SreiR (liee ofE)

RIBR Sl 82
Options :

1. ¢ UIgd SIS
2. % 3fcighdl HldRdd
3. % 3{1eAT g

4. % TS HA

Question Number : 35 Question Id : 97675519637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following days was celebrated as the World Blood Donor Day 2021?
Options :

1. % 12 June

2. % 14 June

3. % 16 June

4, % 18 June

Question Number : 35 Question Id : 97675519637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o @ foog fa=1 o1 fay Yaraerar fidad 2021 & =0 H BHR™T TR
Options :

1. % 12T

2. ¥ 145

3. % 169

4. % 18



Question Number : 36 Question Id : 97675519638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries’ military ambitions has NATO agreed to confront for the first time and designated it as presenting "systemic
challenges"?

Options :

1. # Iran

2. % North Korea
3. % China

4. % Yemen

Question Number : 36 Question Id : 97675519638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁﬁm%ﬂaﬁﬁwﬁam&ﬂaﬁﬁﬂaﬁuscﬂaRHlHﬂlm-ﬁ%%ﬂﬂ%ﬂﬁfﬂ%ﬁ?g@@ﬁ@ﬂﬂ?ﬁﬁﬁ%ﬂﬁmﬁﬁ
Options :

1. % M

2. % IR BINAT

3. A

4. % gy

Question Number : 37 Question Id : 97675519639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following articles of the Indian Constitution provides that “There shall be a Council of Ministers with the Prime Minister at the
head to aid and advise the President...”?

Options :
1. % 72
2.9 74
3. % 76



4. = 78

Question Number : 37 Question Id : 97675519639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Wfde & MafaRad # 3 &F 91 sigwse UaH o1 & & "IFafd & JgrdT 3R JaT8 o & o7t g #3it & 7qd § Uh
Options :

1. % 72

2.9 74

3. % 76

4. % 78

Question Number : 38 Question Id : 97675519640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the minimum age required for a person to qualify as a Presidential candidate in India?
Options :

1. ® 25 years

2. % 30 years

3. % 35 years

4. % 40 years

Question Number : 38 Question Id : 97675519640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR H PR U & IHIGAR & U H S&dl YT D o ore fobeit ikt bt graH 31 foal g1t e
Options :

1. % 259l

2. % 30 94Icd

3. ¢ 3541d




4. % 40971

Question Number : 39 Question Id : 97675519641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where was the World Athletics U-20 Championships 2021 held?
Options :

1. % USA

2. # England

3. % Kenya

4. * France

Question Number : 39 Question Id : 97675519641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fay Teifead U-20 AfRARIT 2021 F8T MR &t 715 o
Options :

1. #* guy

2. % $cls

3. ¥ B

4. % 1Y

Question Number : 40 Question Id : 97675519642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who became the Player of the Match in the World Test Championship final 2021?
Options :

1. ¥ Kyle Jamieson

2. % Kane Williamson

3. % Devon Conway

4. % Ajinkya Rahane



Question Number : 40 Question Id : 97675519642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%y % SfTART BEad 2021 § WIR 3416 € 7Y SIF S92

Options :
1. ¢ it o
2. % o faferaea
3. % SAF B
4. % 3ffSiery IgTol
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Question Number : 41 Question Id : 97675519643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a + b+ ¢ =0 then find the value of % ?
Options :

I.*0

2. % 1/2

3.% 1

4.2

Question Number : 41 Question Id : 97675519643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 bZ 2
AfEa+b+c=0gar %mmm?}?
c° —al

Options :
1.*0
2. % 1/2
3.% 1
4.9 2

Question Number : 42 Question Id : 97675519644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If written in digit form, what minimum number should come in place of (p) such that the number 14p9p1 becomes exactly divisible by 9?



Options :
1. % 4
2.¥6
3.9
4. %3

Question Number : 42 Question Id : 97675519644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe 3! o =g H foral S, a1 WA 14p9p1 BT 9 T Yuid: fAUTST T & AT (p) & RIM WR YAaH T-A1 71 g1 A1feT?
Options :

1. % 4

2.¥6

3.9

4. %3

Question Number : 43 Question Id : 97675519645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

17 x 2 x 22 = 522 + 2906
Options :

1.¥ 15

2. % 16

3.% 14

4. % 2]

Question Number : 43 Question Id : 97675519645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
0 o 7 Uy g (2) & I R 1 HE ST



17 x 2 x 22 =522+ 2906
Options :

1.¥ 15

2.% 16

3.% 14

4. % 2]

Question Number : 44 Question Id : 97675519646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following question?

3-X3-x2-+5=?
g 5 2

Options :
1. % 25
2.¥5
3. % 16
4. % 8

Question Number : 44 Question Id : 97675519646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad us 7 U g (2) & I R 1 31 91w
3-X3-x2-+5=?

8 5 2
Options :

1. #= 25
2.¥5



3. % 16
4. % 8

Question Number : 45 Question Id : 97675519647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of 35 students in a class is 16 years. The average age of 21 students is 14 years. What is the average age remaining 14 students?
Options :

1. * 15 years

2. % 17 years

3. % 18 years

4. ¥ 19 years

Question Number : 45 Question Id : 97675519647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH D& T 35 [Gaiil o1 ofiad oirg 16 av g1 21 faenfiat o Sfird 3y 14 I8 51 [V 14 fIenfal &t oira sy fararl 82
Options :

1. % 1599

2. % 1794

3. % 1894

4.4 19TY

Question Number : 46 Question Id : 97675519648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Test A and test B have an equal number of questions. In test A, the accuracy of a student is 60 percent, and in test B, the accuracy is 75 percent.
He answered all the questions in both the test. If he answered 6 more questions correctly in test B than test A, then what is the number of
questions in each test?

Options :
1. ® 60
2. % 100



3. % 80
4. % 40

Question Number : 46 Question Id : 97675519648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tar A SR Tien B & GH ST H Uy § 1 UHeT A §, Uh B &1 Gl 60 UTRId §, 3R USan B § Gt 75 Uidid g1 394 Gl
gemal 7 g v & IR fu) ufe 39 udtenm A B udien B H 6 31U v & U IR T, i s udien & ui o I fhdt 82
Options :

1. % 60

2. % 100

3. % 80

4. ¥ 40

Question Number : 47 Question Id : 97675519649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an examination, 40 percent students fail in Maths, 30 percent fails in English and 15 percent fails in both. Find the pass percentage.
Options :

1. ® 50 percent

2. % 65 percent

3. % 30 percent

4. ¥ 45 percent

Question Number : 47 Question Id : 97675519649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TRe 3, 40 Ufa=ra o1 1ord & Srcfiof, s & 30 ufa=rd Srdivl 3R 15 ufa=rd & aFl & S 8 | 3<itul ufawra 31d Sifve |
Options :

1. % 50 Ufa=rd

2. % 65 UfaRId

3. % 30 Yid=rd



4.+ 45 Yfaerd

Question Number : 48 Question Id : 97675519650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A grocer sell 40 percent of the rice at the profit of 60 percent and 60 percent rice at the profit of 15 percent. Find the average profit of the grocer
if he sells only rice.

Options :

1. # 42 percent
2. % 28 percent
3. % 33 percent
4. % 20 percent

Question Number : 48 Question Id : 97675519650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR 40 UfA<Td T19d 1 60 UFRId aTH TR ST 8 3R 60 UTa=Id I1ad 1 15 UfAerd & a4 WR 99T 81 Ife 98 Pad Irad 9adl §,
a1 TR T 3id ATH I1d B |

Options :

1. % 42 gfaerd
2. % 28 Ufrd
3. ¢ 33 gfaerd
4. % 20 gfaerd

Question Number : 49 Question Id : 97675519651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

55 percent of goods are sold at 16 percent profit while the remaining is sold at 4 percent loss. If there is a total profit of Rs 1050 then the cost
price of goods sold is:

Options :
1. % Rs.12800
2. % Rs.14500



3. ¥ Rs.15000
4. % Rs.15750

Question Number : 49 Question Id : 97675519651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

55 U1 gy 16 TR AT TR ot fTcll § STafdh AW 4 Ha=Td 1A IR ot SiTelt &1 afE 5 1050 02 HT M il §, ot ot 15 a3t
&1 99 Yoo faha g2
Options :

1. % 12800 30"
2. % 14500 3T
3. ¢ 15000 3T
4. % 15750 30

Question Number : 50 Question Id : 97675519652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 years ago, the ages of P and Q were in the ratio 4 : 5 and 7 years hence it is in the ratio 5 : 6. The present age of Q is:
Options :

1. ¥ 77 years

2. % 88 years

3. % 97 years

4. # 99 years

Question Number : 50 Question Id : 97675519652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 T4 UG, P 3R Q B 3R HT SUIT 4 : 5 UT 3R 7 T TG ID! 3G BT U 5 : 6 8, AT Q Bt IAHH 31 fvail 82
Options :

1.¥ 77qY

2. % g8 Y



3. % 979y
4. % 99 qY

Question Number : 51 Question Id : 97675519653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A mixture of 1920 ml is prepared of water and oil in the ratio 5 : 3, respectively. If this ratio is to be corrected to 1 : 7, then how much more oil
should be added after removing the excess water such that the total quantity of the mixture remains the same?

Options :

1. # 840 ml
2. % 960 ml
3. % 1120 ml
4, % 480 ml

Question Number : 51 Question Id : 97675519653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1920 TRl efiex frsior & Ut SiR o HT SIuTd HHRE: 5 : 3 1 TS 7 U BT U1 B | : 7 BT 6, Al (701 F ffafad art Farem
o a1 foba=1 AT H odt e S arfds frsior &t 9 99 B |

Options :

1. % 840 firei aitex
2. ¢ 960 el Titex
3. % 1120 fHel ofex
4. % 480 foreft dile”

Question Number : 52 Question Id : 97675519654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the compound interest on a sum for 2 years at 2.5 percent per annum is Rs 405, then the simple interest on the same sum at same rate of interest
for same period of time is:

Options :
1. ¥ Rs.400



2. % Rs.300
3. #* Rs.276
4. * Rs.390

Question Number : 52 Question Id : 97675519654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T YR IR 2 a9 & g 2.5 wfawra a1fifer <R A Tshafs <11 405 U B, O WM R R M S $1 R JAH JHIAER &
forg QreRT &S |

Options :

1. ¢ 400 30

2. % 300 3qY

3. % 276 34Y

4. % 390 347

Question Number : 53 Question Id : 97675519655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man travelled from the village to the bus stop at the rate of 15 km/hr and walked back at the rate of 4 km/hr. If the whole journey took 3 hours
48 minutes, find the distance of the bus stop from the village?

Options :

1. ®* 15 km
2. % 20 km
3.% 12 km
4. % 24 km

Question Number : 53 Question Id : 97675519655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fad A 11d I 99 WIa St g 15 fob 1 /e dt @R J 99 &t 3R 4 fop 1t /der &1 @x I 1o sman| afe Oft amn & 3 6¢ 48 e @ &),
ol 3 T T S I B g3l 1 D

Options :




Question Number : 54 Question Id : 97675519656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man covers a certain distance in 6 hr 18 min if he walks at the rate of 5 km/h. What is the time required to cover the same distance on a bike at
the speed of 54 km/h ?

Options :

1. % 30 min
2. % 35 min
3. % 40 min
4. %* 45 min

Question Number : 54 Question Id : 97675519656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 foptfi/der ®1 G ¥ g W U& dAfad 6 °¢ 18 e & Ter Fid g8 0 ol ¢ | 918 gRT 54 fheil/der & 1 ¥ 99 gl 0 &1 &
ferg fore1m THa & 2

Options :

1. % 30 e
2. ¢ 35fAce
3. % 40 fiHC
4. % 45f0FC

Question Number : 55 Question Id : 97675519657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 males complete a piece of work in 18 days. 12 females complete the same work in 24 days. Then in how many days work will be completed
by 10 males and 8 females?



Options :

| x 12

Question Number : 55 Question Id : 97675519657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%;W%?mﬁ 18 &7l § QT R §1 12 ARRETE ST 1 Dl 24 &A1 B R HRcAT €, A BT BT 10 TT MR 8 Afgemaft gRT fava et
uxT SfTdIT?

Options :

w12



Question Number : 56 Question Id : 97675519658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suresh & Ramesh can prepare a table in 18 days & 12 days respectively. Suresh begins the work & they work alternately one at a time. How
many days will it take to prepare a table?

Options :
15=

1. =

142
2. 2

Question Number : 56 Question Id : 97675519658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R 3R A HA: 18 7 3R 12 T&7 & v A9 &1 FAfHd SR Ihdl & | IR F1 Y& Rl § AR d IRT IR Y HH A © - T fod
I AR ST &7 T 3R 3 TR | U6 T &1 [t e 8 pdt fopam fom et

Options :
1
15%

1. =

142
2.9 2



Question Number : 57 Question Id : 97675519659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost of painting the curved surface area of the cone at the rate of Rs. 2.5 per cm? is Rs. 1800. If the radius of the cone is 12 cm, then find the
height of the cone. (Use n = 3)

Options :

1.¥ 16 cm
2. % 20 cm
3. % 35cm

4. % 5cm

Question Number : 57 Question Id : 97675519659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T P & dh J§ & 8FAhd B 2.5 IUY Ui ¥ JH Bt & I WH DI AT 1800 U §, TG X 1 BAodT 12 T &, T TP B SHdTs I1d
HIfoTT| (mt=23)

Options :

1. ¢ 16 94!
2. % 20 W
3. % 359H
4. % 53

Question Number : 58 Question Id : 97675519660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Each side of a cube is increased by ‘a’ cm such that increase in total surface area is 44 percent, then find the percent change in its volume ?
Options :

1. % 60 percent

2. % 72.8 percent

3. ® 75.6 percent

4. % 70.4 percent

Question Number : 58 Question Id : 97675519660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T &1 TS YAl DI ‘2’ THI 39 TSR ST AT & fb Hol gEII &% H 44 UfA=1d g gl 8, O 39 S § Ufa=d uRad J1a
DI |
Options :

1. % 60 gfa=rd

2. ¢ 72.8 Ufa=Id
3. % 75.6 Ufawd
4. % 70 4 gfa=rd

Question Number : 59 Question Id : 97675519661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the given table that shows import data for cars and answer the question asked.

Alonths MG BAMW ATUDI | VOLESWEGON
Jan 28 36 13 25
Feb 30 40 17 22
Mar 32 30 20 29
Apr 41 27 36 5
May 45 33 25 30

In which month, the total import of MG and VOLKSWEGON was the highest?
Options :



1. * Jan
2. % April
3. % March
4. ¥ May

Question Number : 59 Question Id : 97675519661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&} TS IRTeRT BT L H ol BRI & Q1T ST Sl feand! § 3R I T Uy HT FWR < |

] TS | fitAsew | AR | viewdTe
ST 28 36 15 25
LI 30 40 17 22
I 32 30 20 29
e 41 27 36 5

A 45 35 25 30

for Hel o, TSl 3R WIRIATH &1 Hof SMTd Jay 31fereh 12

Options :
1. ® Sa’l
2. % 30
3. % O
4. 1%

Question Number : 60 Question Id : 97675519662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following bar graph shows the income (in crore rupees) of five companies from three different productions in 2020.
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If income of all companies from IT is increased by 20 percent in 2021 when compared to 2020, then find the total income of all companies in
2021 (in crore rupees).

Options :
1. % 2045
2. % 1953
3.4 2129
4. % 2336

Question Number : 60 Question Id : 97675519662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad IR I 2020 B T -3 IdTEH I Ui HUF! B 31T (@RS T H) & ST ]|
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Options :

1. % 2045

2. % 1953

3.9 2129

4. % 2336
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Question Number : 61 Question Id : 97675519663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the
sentence is free from error, select 'No error'.

Ensuring a proper fit is essential to optimize both the source control and the protection offered.
Options :

1. ®* Ensuring a proper fit is essential to

2. % optimize both the source control

3. % and the protection offered.

4. ¥ No error



Question Number : 61 Question Id : 97675519663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the
sentence is free from error, select 'No error'.

Ensuring a proper fit is essential to optimize both the source control and the protection offered.
Options :

1. # Ensuring a proper fit is essential to

2. # optimize both the source control

3. % and the protection offered.

4. ¥ No error

Question Number : 62 Question Id : 97675519664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the
sentence is free from error, select 'No error'.

High-touch surfaces in visitation areas should being frequently cleaned and disinfected.
Options :

1. % High-touch surfaces in visitation

2. % areas should being frequently

3. % cleaned and disinfected.

4. ® No error

Question Number : 62 Question Id : 97675519664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the
sentence is free from error, select 'No error'.

High-touch surfaces in visitation areas should being frequently cleaned and disinfected.
Options :



1. # High-touch surfaces in visitation
2. ¥ areas should being frequently

3. # cleaned and disinfected.

4. ® No error

Question Number : 63 Question Id : 97675519665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select no
substitution required.

Last month, scientists report the new photographs of Mars excitedly.
Options :

1. ¢ reported the new photographs of Mars excitedly.
2. % excitedly reporting the new photographs of Mars.
3. % excited reports of the new photographs of Mars.

4. ® No substitution required

Question Number : 63 Question Id : 97675519665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select no
substitution required.

Last month, scientists report the new photographs of Mars excitedly.

Options :

1. ¥ reported the new photographs of Mars excitedly.
2. ® excitedly reporting the new photographs of Mars.
3. % excited reports of the new photographs of Mars.

4. ® No substitution required

Question Number : 64 Question Id : 97675519666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If
there is no need to substitute bracketed part, select ‘No improvement’.

Ellen Johnson said that (she seen alot of) commotion outside her house.
Options :

1. ¥ she saw a lot of

2. % she had seen a lot

3. % she has been seeing lots of

4. # No improvement

Question Number : 64 Question Id : 97675519666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If
there is no need to substitute bracketed part, select ‘No improvement’.

Ellen Johnson said that (she seen alot of) commotion outside her house.
Options :

1. ¥ she saw a lot of

2. # she had seen a lot

3. # she has been seeing lots of

4. % No improvement

Question Number : 65 Question Id : 97675519667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

He even Mrs Priyali, carrying her shopping and flirting with her, though she's 83.
Options :

1. % struck

2. # fragmented

3. #® missed



4. % charmed

Question Number : 65 Question Id : 97675519667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

He even Mrs Priyali, carrying her shopping and flirting with her, though she's 83.
Options :

1. % struck

2. % fragmented

3. % missed

4. ¥ charmed

Question Number : 66 Question Id : 97675519668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The meeting, announced on Tuesday, will seek to draw a plan to protect the Amazon rainforest.
Options :

1. * back

2. % out

3. ® down

4. ¥ up

Question Number : 66 Question Id : 97675519668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The meeting, announced on Tuesday, will seek to draw a plan to protect the Amazon rainforest.
Options :



1. # back
2. % out
3. % down

4. ¥ up

Question Number : 67 Question Id : 97675519669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank.
They love to have vegetable curry rice.

Options :
1. * at
2. ¥ with
3. % to

4. % by

Question Number : 67 Question Id : 97675519669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank.
They love to have vegetable curry rice.

Options :
1. * at
2. ¥ with
3. % to

4. % by

Question Number : 68 Question Id : 97675519670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, a sentence is given with two blanks. Choose the correct combination of words that fit into the corresponding blanks.

The increase in the interest rate at a time when the pandemic is governments across the world.



Options :

1. ¥ comes, costing
2. % came, cost

3. % coming, costs

4. ® come, costing

Question Number : 68 Question Id : 97675519670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, a sentence is given with two blanks. Choose the correct combination of words that fit into the corresponding blanks.

The increase in the interest rate at a time when the pandemic is governments across the world.
Options :

1. ¥ comes, costing

2. % came, cost

3. % coming, costs

4. # come, costing

Question Number : 69 Question Id : 97675519671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question consists of four statements labelled P, Q, R, and S which when logically arranged form a coherent passage. Choose the option that
represents the most logical order.

P. They believe it was a separate branch of humanity 146,000 years ago.
Q. They’ve named the species ‘Homo Longi or ‘Dragon Man’.

R. What did it look like?

S. Scientists claim to have discovered a new species of humans.

Options :

1. ¥ RSQP
2. ¥ SQPR
3. % QPSQ
4. % RQPS



Question Number : 69 Question Id : 97675519671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question consists of four statements labelled P, Q, R, and S which when logically arranged form a coherent passage. Choose the option that
represents the most logical order.

P. They believe it was a separate branch of humanity 146,000 years ago.
Q. They’ve named the species ‘Homo Longi or ‘Dragon Man’.

R. What did it look like?

S. Scientists claim to have discovered a new species of humans.

Options :

1. * RSQP
2. ¥ SQPR
3. % QPSQ
4. *= RQPS

Question Number : 70 Question Id : 97675519672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.

RETICENT
Options :

1. * garrulous
2. ¥ silent

3. * confident

4. % extrovert

Question Number : 70 Question Id : 97675519672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.



RETICENT
Options :

1. % garrulous
2. ¥ silent

3. # confident

4. % extrovert

Question Number : 71 Question Id : 97675519673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym for the given word.

Originate
Options :

1. % Clutter

2. % Implement
3. % End

4. % Reversal

Question Number : 71 Question Id : 97675519673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym for the given word.

Originate
Options :

1. % Clutter

2. # Implement
3. ¥ End

4, % Reversal

Question Number : 72 Question Id : 97675519674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Present

2. % Avoid

3. ¥ Thorugh

4. % Villager

Question Number : 72 Question Id : 97675519674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Present

2. % Avoid

3. % Thorugh

4. # Villager

Question Number : 73 Question Id : 97675519675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. ¥ Millennium

2. # Milenium

3. % Millenium

4. % Milennium

Question Number : 73 Question Id : 97675519675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.



Options :

1. ¥ Millennium
2. # Milenium
3. # Millenium

4. % Milennium

Question Number : 74 Question Id : 97675519676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

It’s brass monkeys outside
Options :

1. # Amicable

2. # Responsive

3. % Friendly

4. ¥ Frigid

Question Number : 74 Question Id : 97675519676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

It’s brass monkeys outside
Options :

1. # Amicable

2. # Responsive

3. # Friendly

4. ¥ Frigid

Question Number : 75 Question Id : 97675519677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word which means the same as the following group of the words.

An intense fondness for flowers
Options :

1. ¥ Anthomania

2. % Dromomania

3. % Nostomania

4. ¥ Phagomania

Question Number : 75 Question Id : 97675519677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the following group of the words.

An intense fondness for flowers
Options :

1. ¥ Anthomania

2. % Dromomania

3. #* Nostomania

4. % Phagomania

Sub-Section Number : 2
Sub-Section Id : 9767551257
Question Shuffling Allowed : Yes

Question Id : 97675519678 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

Donald John Trump is an American media personality, businessman, and politician who served as the 45th president of the United States from
2017 to 2021. Born and raised in Queens, New York City, Trump graduated from the University of Pennsylvania with a bachelor's degree in
1968. He became the president of his father Fred Trump's real estate business in 1971 and renamed it The Trump Organization. Trump expanded
the company's operations to building and renovating skyscrapers, hotels, casinos, and golf courses. He later started various side ventures, mostly
by licensing his name. Trump and his businesses have been involved in more than 4,000 state and federal legal actions, including six



bankruptcies. He owned the Miss Universe brand of beauty pageants from 1996 to 2015. From 2003 to 2015, he co-produced and hosted the
reality television series The Apprentice.

Trump's political positions have been described as populist, protectionist, isolationist, and nationalist. He entered the 2016 presidential race as a
Republican and was elected in an upset victory over Democratic nominee Hillary Clinton while losing the popular vote. He was the first U.S.
president without prior military or government service. His election and policies sparked numerous protests. Trump made many false and
misleading statements during his campaigns and presidency, to a degree unprecedented in American politics.

Trump ordered a travel ban on citizens from several Muslim-majority countries, citing security concerns; after legal challenges, the Supreme
Court upheld the policy's third revision. He signed the Tax Cuts and Jobs Act of 2017 which cut taxes for individuals and businesses and
rescinded the individual health insurance mandate penalty of the Affordable Care Act. Trump appointed more than 200 federal judges. In foreign
policy, Trump pursued an America First agenda: he renegotiated the North American Free Trade Agreement as the United States—Mexico—
Canada Agreement and withdrew the U.S. from the Trans-Pacific Partnership trade negotiations, the Paris Agreement on climate change and the
Iran nuclear deal.

Sub questions

Question Number : 76 Question Id : 97675519679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, Trump became the president of his father’s real estate business, and changed its name. What was the name that he
adapted after changing it?

Options :

1. # Trump Towers

2. # Fred Trump

3. % The Trump Organization

4. # Trump Legacies

Question Number : 77 Question Id : 97675519680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Trump entered the presidential race. From which political side he joined the presidential race?
Options :

1. # Communist

2. # Democratic

3. % Socialist- democrat

4. ¥ Republican



Question Number : 78 Question Id : 97675519681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following places Trump was born and raised?
Options :

1. ® Las Vegas

2. % Washington DC

3. ¥ New York City

4. ® Los Angles

Question Number : 79 Question Id : 97675519682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the word ‘pageant’ mean in the given passage?

Options :

1. ® seize and take control without authority

2. ¥ a competition usually for young women in which they are judged on their beauty and other qualities
3. # self-consciously timid

4. ® showing an inclination to disagree

Question Number : 80 Question Id : 97675519683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct here, according to the given passage?
Options :

1. # Trump appointed more than 200 federal judges

2. ¥ Trump refused to sign the Tax Cuts and Jobs Act

3. ® Trump ordered a travel ban on citizens from several Muslim-majority countries

4. ® Trump's political positions have been described as populist

Question Id : 97675519678 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

Donald John Trump is an American media personality, businessman, and politician who served as the 45th president of the United States from
2017 to 2021. Born and raised in Queens, New York City, Trump graduated from the University of Pennsylvania with a bachelor's degree in
1968. He became the president of his father Fred Trump's real estate business in 1971 and renamed it The Trump Organization. Trump expanded
the company's operations to building and renovating skyscrapers, hotels, casinos, and golf courses. He later started various side ventures, mostly
by licensing his name. Trump and his businesses have been involved in more than 4,000 state and federal legal actions, including six
bankruptcies. He owned the Miss Universe brand of beauty pageants from 1996 to 2015. From 2003 to 2015, he co-produced and hosted the
reality television series The Apprentice.

Trump's political positions have been described as populist, protectionist, isolationist, and nationalist. He entered the 2016 presidential race as a
Republican and was elected in an upset victory over Democratic nominee Hillary Clinton while losing the popular vote. He was the first U.S.
president without prior military or government service. His election and policies sparked numerous protests. Trump made many false and
misleading statements during his campaigns and presidency, to a degree unprecedented in American politics.

Trump ordered a travel ban on citizens from several Muslim-majority countries, citing security concerns; after legal challenges, the Supreme
Court upheld the policy's third revision. He signed the Tax Cuts and Jobs Act of 2017 which cut taxes for individuals and businesses and
rescinded the individual health insurance mandate penalty of the Affordable Care Act. Trump appointed more than 200 federal judges. In foreign
policy, Trump pursued an America First agenda: he renegotiated the North American Free Trade Agreement as the United States—Mexico—
Canada Agreement and withdrew the U.S. from the Trans-Pacific Partnership trade negotiations, the Paris Agreement on climate change and the
Iran nuclear deal.

Sub questions

Question Number : 76 Question Id : 97675519679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, Trump became the president of his father’s real estate business, and changed its name. What was the name that he
adapted after changing it?

Options :

1. * Trump Towers

2. * Fred Trump

3. % The Trump Organization

4. * Trump Legacies

Question Number : 77 Question Id : 97675519680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Trump entered the presidential race. From which political side he joined the presidential race?
Options :

1. ¥ Communist

2. # Democratic

3. # Socialist- democrat

4. ¥ Republican

Question Number : 78 Question Id : 97675519681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following places Trump was born and raised?
Options :

1. # Las Vegas

2. % Washington DC

3. ¥ New York City

4. % Los Angles

Question Number : 79 Question Id : 97675519682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the word ‘pageant’ mean in the given passage?

Options :

1. # seize and take control without authority

2. % a competition usually for young women in which they are judged on their beauty and other qualities
3. # self-consciously timid

4. % showing an inclination to disagree

Question Number : 80 Question Id : 97675519683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is NOT correct here, according to the given passage?
Options :



1. # Trump appointed more than 200 federal judges
2. % Trump refused to sign the Tax Cuts and Jobs Act
3. % Trump ordered a travel ban on citizens from several Muslim-majority countries

4. # Trump's political positions have been described as populist
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Question Number : 81 Question Id : 97675519684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 3qY

2. % Tt

3. % NI

4. % Tdad

Question Number : 81 Question Id : 97675519684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrfRed & 9 -9 ¥ea gu7 WR T BT I&T6R0 672
Options :

1.« 3dg

2. % w@rff

3. %

4. % Hdad

Question Number : 82 Question Id : 97675519685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GDHIR o TR 'HgT Ueg by Usg b Ugal T
Options :

1. % -gYH

2. & YifD

3. % RMEA

4. % T

Question Number : 82 Question Id : 97675519685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

eGPHIR P TR 'HGl Teg fhd eg b Ugd ST
Options :

1. % -gYH

2. ¢ YifD

3. % R4

4. % T

Question Number : 83 Question Id : 97675519686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafefaad & @ goaaras O3 e BT I Hifo-

Options :
1. # AU+
2. % Hg
3. ¢ Qg
4. %

Question Number : 83 Question Id : 97675519686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffefad o T soadrae 31 Xeq 1 9 PIfTT-

Options :
1. % UG-
2. % Yg
3. ¥ Qg
4. % Do

Question Number : 84 Question Id : 97675519687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f=fRed o @ ®H-91 fdsed IaH TEvarad T4 BT 3aIexvl 76l 67
Options :

1. % o

2. % gH

3. % 79

4. % Y

Question Number : 84 Question Id : 97675519687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fRed o @ ®H-91 fdwed IaH T varad Ja4TH BT 3eIex0 76l 82
Options :

1. % H

2. % gH

3. % T9

4. 39

Question Number : 85 Question Id : 97675519688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfefad § @ i &1 waiadr Wee H1H-91 82
Options :

1. % &R

2. % TftH

3. ¢ SR

4. % &RIQ

Question Number : 85 Question Id : 97675519688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfafea & @ e o1 yatadrd 2eg $1H-91 82



Options :

1. % gdaR
2. % qQfte
3. ¢ gl
4. % &RIG

Question Number : 86 Question Id : 97675519689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fRed o ¥ 3RS ad aTel Ueg &1 T BITor-
Options :

1. % fague

2. % Sromarter

3. ¢ Uadadi

4, % YDHIRIAH

Question Number : 86 Question Id : 97675519689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fRed o ¥ 3RS ad arel Ueg oI T BHIfor-
Options :

1. % fague

2. % Jomarter

3. ¢ Gadeci

4. ® YbIRAIH

Question Number : 87 Question Id : 97675519690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFefefed & 9 "Hwg &1 faeh s HH-91 52

Options :



1. % g&
2. ¢ @Rd
3. % AT
4. % el

Question Number : 87 Question Id : 97675519690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
freffad & ¥ "< &1 fadH Teg HH-T1 82
Options :

1. % gid

2. ¢ @Rd

3. % ¢fmr

4. % el

Question Number : 88 Question Id : 97675519691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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-

Options :

1. % WM I Th I - dax
2. % RIEN - RUBR

3. % Ay - AT

4. T - e

Question Number : 88 Question Id : 97675519691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % WM DI T aJ - TG

Question Number : 89 Question Id : 97675519692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # T3 %R Bd 81 § 319y g1 T 8

2. % UPT WIS g1 a1 3|

3. ¢ FMH YA PRI E!

4. % 98 fId PR 5

Question Number : 89 Question Id : 97675519692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfARId o § $19-91 a1 fawTanfeaiyd arad o1 3Gl 67
Options :

1. % g TR Bhd g U M 81 @]

2. % 3MUHI HTS T8I T8I & |

3. ¢ TN H YT PR IET§!

4. % gE AT BB

Question Number : 90 Question Id : 97675519693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



R & § Wi W &1 997 FRT
Options :

1. % T

2. ¢ forerae

3. % oIy

4. % g

Question Number : 90 Question Id : 97675519693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R & & Wi 2 &1 797 HIRT
Options :

1. % TR

2. ¢ fidrae

3. % By

4. % g

Question Number : 91 Question Id : 97675519694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fau U Sgad are &1 e iy ot HiE-91 g
% ARV T, SICTY H 39 &1 bR faa|

Options :

1. 73 3 e R fear ifes a8 wRuma= T
2. % g ARUMNI YT 39oTd I &1 o faar|

3. % I &1 R (1 THIMY I8 HRUME 1|
4. % T IY & a1 THIIT a8 HRUMTH g3l

Question Number : 91 Question Id : 97675519694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e fou U Hged a1 &1 Te! iy 9T S g
95 FRUTE YT, SHieY H S & R fea|

Options :

1. ¢ T3 I &1 R g Fifes a8 TRumg= ol
2. % g8 FRUMY YT 39iT 39 &1 o faa|
3. % 39 W1 o foar 3o a8 ARuma— ol
4. % T IY & fordT ST a8 FRUM gaf|

Question Number : 92 Question Id : 97675519695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu T gt & A A 9 fha RS ot favfaa o1 v fear man g2
3T g g1 I S|

Options :

Question Number : 92 Question Id : 97675519695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu 7w gt & e A @ f5a aRe ot favfad o1 uan fear man g
3T g g1 9§ S|

Options :

1. % 3B HRD
2. ¢ 3(UIGTH PRSP
3. ® qBJGIH PRD



4. % JrEYT HPRD

Question Number : 93 Question Id : 97675519696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfeRad & ¥ fog qerar &1 3if "ogef Pt 3mean iR 7= g 82
Options :

1. % HH-09 A1

2. % Tedl I DHAT

3. ¢ T & dgg I

4. % gool 911 fe@mT |

Question Number : 93 Question Id : 97675519696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfoiRaa & & fore GeTak &1 31 o Bt 311=1T R U= g1AT" 62
Options :

1. % HH-HG B

2. % edl Il BT

3. T & deg I

4. % Fol g1 fa@ |

Question Number : 94 Question Id : 97675519697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foRed # @ Aeifad " & 9 & afd Tel o S &1 &1 31 §2
Options :

1. % (U HTH 8 O 3R DIs g1 H T80

2. % SERG! T T

3. % SR RI PP 3 H YH AT g1

4. ¥ o el fiS R 9% |




Question Number : 94 Question Id : 97675519697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrefad & 9 aeifa "t & 9d & g el o S 7 R e g
Options :

1. % 3O HH I o 3R B g1+ H AT

2. % SeRGEIl 3 TSI

3. % SR R HRP 3 H YH AT §11

4.+ o el 9 R e Y|

Question Number : 95 Question Id : 97675519698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WId B 37T TSt 1 AV AT | G b1 S 2, I IS &S e | I o R faes o1 v fpan Sran 82
Options :

1. ¢ 3fUfaH forg
2. % gUifqR™ fog
3. % Il g
4. % AR g

Question Number : 95 Question Id : 97675519698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T BT 3YdT -Te| ®I AN TR ¥ YU {61 offall 8, df 39 a8 (e § 3 fovd favm forg o1 v fasa S 82
Options :

1. ¢ 3feufarTH forg

2. # guifaR™ fog

3. % Il g

4. % ARV fag

Sub-Section Number : 2



Sub-Section Id : 9767551259
Question Shuffling Allowed : Yes

Question Id : 97675519699 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
=TT TRIT1 FT AT ga® T B U=AT B IR Glord-

T IR oY 4R, R 3R 311eTre 8 81 3% 1 Bt TafiRar oiR ifa Ig ) aRe fawna iR e a1 sty @t ave RR 3R s

g 81 3 Fit T=at Y B g & areifes off A ueur ot Ml e & Ik o1 v fus fewamn 31 v 8, I AR bt e s @
H%T{gmcﬂl??{Hﬂuw%&ﬁvﬂﬂaﬁﬁﬁ@ﬁ%%sﬂﬁgﬁmﬁwﬁﬁﬁ?ﬁl%W%ﬁ@uﬁ@ﬁ%@@nﬁm%a@
ﬁmﬁmﬁﬁwﬁméﬁ% TS 3 R ST R oI o, TS WIGAT dcb D! SATATST B IS FAT8 ol gl & 3R 9 SA1ars)
£ |

Sub questions

Question Number : 96 Question Id : 97675519700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST el T S 2w FE A S e
Options :

1. ¢ il aRaT|

2. % WUSR B HEd |

3. % fRR 3R 3 areHifes oht|

4. % RUDHR TS

Question Number : 97 Question Id : 97675519701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUa T W HHHUT BT Jeaid [y T H fpar mar g»
Options :

1. % 3TeY & Yo H|

2. % greHifh o e |

3. % Higp Y A




4. ¢ dRAT & e 1|

Question Number : 98 Question Id : 97675519702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFfRed ¥ ¥ <= IR gy &4 Bid 82
Options :

1. % &R, TR IR PR

2. % GO DI oRg A=

3. ¢ ¢, TR 3R 3elle

4. % 3R, TR &R Sa7

Question Number : 99 Question Id : 97675519703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TR & SFIUR, 9§ “Ted R G SN & TToid 6, dl 1 gial 87
Options :

1. ¢ IR T 37! 3MTaTSl B Tl FATS it T|hl B

2. % QA B YRIT g5 & SIell |

3. % gRAAT 9 fordd 1 e A SA T R

4. % JII g O 5

Question Number : 100 Question Id : 97675519704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iuer TR & SIER e § | BH-1 B 98 T8 8

Options :

1. % I IR gV ¢, 1R iR 3rreie Bl €

2. % T 4R IoY YR & I WRIUSR! 81 5

3. ¢ T IR g3 o 14 D1 1R SR ifd T% &1 g fa=Ima 3R T A1 SHTHIR Bl ave (R 3R 3ad -Tg] i 6 |
4. % T9 I IR YV AN IR TToid 5, 99 il ddb SAdb! AT BI ol Y18 Gl X! 6




Question Id : 97675519699 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

FfIREd TR &1 AT gd e ST HR U=AT & IR GHoTd-

T= 4R g2y ¢fiR, TR 3R 31Tole 81d & 1 3% 1 o1 TiHRdT 3R wifd I o1 ave fawe iR et a1 3i1erw ot v RR 3R st
gicht 81 d Bt Iad gt gIa I B e ot A U0 &1 Ml i B dRal &1 U fue fleaarn 81 94 8, I IR &t fig s ¥
Hﬁgm"llﬁH@gW%&ﬁTHﬂaﬁﬂ?ﬁ@ﬁ%%sﬂﬁgﬁmﬁwﬁﬁﬁ?ﬁlQW$ﬂéqﬁWﬁﬁ%®ﬁﬂ}%§m$a@
ﬁ;m;ﬁ%i;ﬁmﬁﬁwﬁm%ﬁ%l e A TR ST R ol &, q9 AT dh e AT B1 Tl GATS el gt & 3R Ta AT
E |

Sub questions

Question Number : 96 Question Id : 97675519700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUad TR F1 Iferd 2fives = A A /e
Options :

1. el IRl

2. % RUSR ST Hgd |

3. % fRR 3R 3 areHifes Sit|

4. % NSRRI IS

Question Number : 97 Question Id : 97675519701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TN H DB BT oo oo Teef o fopar mam 32
Options :

1. % 3R & TgH H|

2. % greHifh o e |

3. % g & I A

4.« dRaAT o Hey Hl

Question Number : 98 Question Id : 97675519702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

f=fafed 3 @ <o IR gow &8 g 82
Options :

1. % R, TR SR HR

2. % g DI TRg fa=md

3. ¢ R, TR 3R 3T

4. # IR, TR 3R e

Question Number : 99 Question Id : 97675519703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUa TR & SIUR, 99 “Ted R G SN & TToid 6, dl 91 gial 87
Options :

. ¢ e T 37! 3MTaTSl B Tl FATS it I§ht B

2. % A B YRTT T8+ o SIcll g |

3. % gAY fordl ot aRE A S TRl B

4. % IIIA GO0 B

Question Number : 100 Question Id : 97675519704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T F IR 7 8 F HH-I1 By I8t T8t 2

Options :

1. % T IR gV o, 1R iR a11eiie 81d €|

2. % o IR IY TR & T WUSRI g 5 |

3. ¢ T IR I39 & 79 1 iR SiR ifa THg &1 R fa=a sk T8t a1 31T Bt ave fRR 3R 3ad 78 gl 5 |
4. % 59 T R GV ST R i &, 99 Wiadl b e SHTaTsl dI ol YATS oclt I8l 6|
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Question Number : 101 Question Id : 97675519705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Crime is the act that violates and treated as an act of
Options :

1. ¥ Law, deviance
2. * anarchy, Deviance
3. % Law, variance

4. % anarchy, variance



Question Number : 101 Question Id : 97675519705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3IRTY, I8 H g SN BT Ieerdd Bl § 3R &1 Hg AHT ST g |
Options :

1. ¢ fafy, fogeq

2. % 3RS, faer

3. % fafYy, auw

4. % IRTSHAT, AT

Question Number : 102 Question Id : 97675519706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One ultimate goal of criminology has been the development of theories expressed with sufficient precision that they can be tested, using data
collected in a manner that allows:

Options :

1. # verification and reproduction
2. # reproduction and reparation
3. % verification and replication.

4. % vyerification and validation

Question Number : 102 Question Id : 97675519706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IRRGT & 1Y SifieTed Rigidl &1 fasm, SIRTUAR &1 Ueh IRy A& §, oM ustert g favivdrst are tehid Ser &1
ST FRap [T ST AH T G|

Options :

1. % T 3R TG
2. % TTEdIG 3R JUR
3. ¢ TA9A 3R ufaiaea




4. % JATU 3R JHTOfHT

Question Number : 103 Question Id : 97675519707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To further reduce the chances of detection and prosecution, cybercriminals often choose to operate in countries with weak or non-
existent

Options :

1. % Anti-cyber crime software
2. % cybercrime history

3. #® cybercrime lawyers

4. ¥ Cybercrime laws

Question Number : 103 Question Id : 97675519707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR STR SIS B HHIGATE 3R HH PR & oY, ISR SORTER gaiet a1 SrFurRyd e =0 H B B
o1 fdhed T & |

Options :

1. % FER-IRTY FRIYS e

2. % YR WY g

3. % WIFSR WY gebIcl

4. % IQEX 3URTY DId

Question Number : 104 Question Id : 97675519708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the correct nomenclature for committing an act that uses a computer as a weapon for committing crimes such as committing fraud,
identities theft or breaching privacy.

Options :
1. ¥ Cyber crime

2. % Contemporary crime



3. * Financial crime

4. ¥ Monitory crime

Question Number : 104 Question Id : 97675519708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T $d &1 Te! TG FofaRad & & I § R ofiRTy a3, S {3 STaroll 3, UgaH &1 91, 31 foldl &1 Seaie $R- &
fo HeR DY T SRAUR P IR ITTANT b1 o1 82

Options :

1. ¢ HIFER ARTY

2. % gD HURTY

3. % o<l SraRy

4. % Wifgew Ry

Question Number : 105 Question Id : 97675519709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When an e-mail server or computer system is attacked by denial-of-service attacks by malicious hackers and to further demand huge money in
return for assurance to stop the attacks and to offer protection, the crime is treated as a:

Options :

1. ¥ Cyber terrorism

2. % Cyber Extortion
3. % Cyber ransomware

4. % Cyber warfare

Question Number : 105 Question Id : 97675519709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o fob el 3-He TR I1 LR YRl TR gHIaqul 331 gRT a1 I SRAIPUN GHeT bl STl &, SR gH Acb) qUT IREIT Ta A &
oo HIRY 4RI Y AT B ST 8, O T SURTY DI T T STl 82

Options :

1. ¢ ISR 3HTdhdIg




2. % ISR Igait
3. % geR

4. % ARR IS

Question Number : 106 Question Id : 97675519710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term criminal law means crimes that may establish . In contrast, Criminal Procedure describes the process through
which the criminal laws are

Options :

1. % Punishments, implemented
2. % Punishments, enforced

3. ® Punishments, prosecuted

4. ¥ procedures, enforced

Question Number : 106 Question Id : 97675519710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MRS Teg &1 3 T SrRTel} 9 § foF s forg HTUEYT 8idT 8 | 39 fausid, muRifdes ufshan, 39 ufssan
&1 U BRI § oI HISTH H STORIEIS BT fHT I €|

Options :

1. % <8, feparfad

2. 8, Udfd

3. % 48, Jfigiford

4. ® yfgsgrafi, yafdd

Question Number : 107 Question Id : 97675519711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Criminal law in India means offenses against the

Options :
1. # District



2. * Taluka
3.+ state
4. % Nation

Question Number : 107 Question Id : 97675519711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR H SRS BT & TG RTE R AN B 5
Options :

1. % foretm

2. % TP

3. ¥ Y

4. ®# Y

Question Number : 108 Question Id : 97675519712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to IPS, R.K. Raghavan in his World Factbook of Criminal Justice Systems: “In sum, the criminal Justice System in India is a
of the British system.”

Options :

1. ¥ legacy

2. ® extension
3. ® reversal

4. % abnegation

Question Number : 108 Question Id : 97675519712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

318, U109, 3R.%. MHa B! [Hd s hacqd 1t fBd iy RReW & R, “UR ¥0 H, YRd & TURI% =a1g gure, fafew
YUl /e i

Options :

1. ¢ farad




2. % fqwR
3. % famy
4. % RGBT

Question Number : 109 Question Id : 97675519713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The establishment of the was appointed to bring reform into the Criminal Justice System of India in the year 1993.

Options :

1. % Kapoor Committee
2. ¥ Vohra Committee

3. % Mehra Committee

4. % Verma Committee

Question Number : 109 Question Id : 97675519713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URA D1 HTRIYD =TT YUTTcl! H YR B o fe1T 1993 H CARILE AT RIC I
Options :

1. % HUR At

2. ¢ QI FiAfd

3. % HE qiHfd

4. % qof 9fAfq

Question Number : 110 Question Id : 97675519714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The NDMA Logo reflects the aspirations of this , of empowering all stakeholders to improve the effectiveness of Disaster
Management in India.

Options :
1. # National Mission
2. # National Objectives



3. ¥ National Vision
4. % National goals

Question Number : 110 Question Id : 97675519714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH.81.TA.U. (NDMA) &1 Udieh g (@), YRd § TUST Uee Bt THTEaRTd 8 UR 6 & ot 0 fgdURep! &l T=Iad 91 8
ERIED DI 3Mepienatt o ufafdfad HRar gl

Options :

1. % g1 fwe
2. % P Igay
3. ¢ P1Y faer
4, % I A&

Question Number : 111 Question Id : 97675519715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The questions such as, what is crime, why does it occur, what are some different types of crime, why are some offensive behaviors considered
crimes etc. lay in the scope of:

Options :

1. ¥ Sociological Theories of Crime
2. % Sociological Theories of defense
3. % Sociological Theories of security

4. % Sociological Theories of police administration

Question Number : 111 Question Id : 97675519715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TRTY T ], T8 o) 81T §, $B Al YR & IRIY DI I 8, $S AYHSS SHIGRI B! SR N JIAT STl 8, AT S Uy
fraforaa # Q fad fawges & sma g2
Options :

1. ¢ U o JHOIRIRA Rigid




2. % YfcReM & USRI Rigia
3. % IRET & ARG gl
4. % Gfor TR & FHISIRIRA Rigid

Question Number : 112 Question Id : 97675519716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To which of the following categories, the “types” of social deviance being: ritualism, innovation, rebellion, ritualism, retreatism, and conformity
belong?

Options :

1. ¥ Social Strain Typology
2. # Conflict Theory

3. # Labeling Theory

4. % Structural Functionalism

Question Number : 112 Question Id : 97675519716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I faae & “UbR”: HHbIS, Aquddd, [agig, dHwisdle, Udr-ag SR sr=yd, Fafiiad o 9 foy guft @ defed g
Options :

1. ¢ TSI fapid UR=Uid

2. % Fuy o1 Rygid

3. % QIR &1 Rigid

4. % WIS YHTIAIG

Question Number : 113 Question Id : 97675519717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following justice system streamlines operations of the Central Adoption Resource Authority (CARA) and has been given the status of a
statutory body to enable it to perform its function more effectively.

Options :

1. % Juvenile Justice System



2. # Judges Assets Bill
3. ®* Women's Reservation Bill
4. % QGuardians and Wards Act

Question Number : 113 Question Id : 97675519717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa & § oF O < yoneh, 4T add T80 Iq1e WfIHRUT (CARA) & TATAH & aafRyd dd! 8, Y 596 UHd &1 31fde
TUT &1 8 = § e - & fore ues faftres e 1 &t fean man g2

Options :

1. ¢ ST =1 YuTTet

2. % e kYl fadge

3. % TG 3REU fadad

4. % TP Td Uy 3fefrad

Question Number : 114 Question Id : 97675519718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Criminal Psychology is not only to understand Criminal Minds or Predict Criminal Behavior it is also important to of
crime and to be able to give intervention to those in need.

Options :

1. #* control the actions of lawyers
2. % control the development

3. # control the law and order

4. % Control the techniques

Question Number : 114 Question Id : 97675519718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTY AAIGAH & had ORI ARG BT SR T HTIRTYS FIER & YaTIHMH &l o 1T SITd AU I8 IR &
& o YT SRexaHe) Bl §Xdad UaH o3+ & forg Hf 7gwagui 5|

Options :



1. % gPIdl & fehaThardl & =01
2. « faera & fRgEm

3. % f3fY 3R sgawuT & iz

4. % gl & =0

Question Number : 115 Question Id : 97675519719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following word is most appropriate in the following statement?

Crime is an act which indicates to a particular culture and a social concern, which is legally considered as an act of
violation of law.

Options :

1. # Presentation
2. # Disturbance
3. % maladjustment

4. ¥ Exploitation

Question Number : 115 Question Id : 97675519719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o ¥ &F 91 e, Fafied Hu+ ¥ 99 3ugad &7

IIRTY T Fd § Sl T [ TP 3R Th qHTioI Ridl (TRIBR) BT Sd Il g, o ST IR R
BT & Ieio B Uh Hd AT ST 8 |
Options :

1. % DRI

2. % FEYH

3. ¢ OIS

4. % FUUIISH

Question Number : 116 Question Id : 97675519720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Criminal psychology aims to control Crime by providing interventions for:
Options :

1. # Education of Criminals

2. # Rehabilitation for criminals

3. % Background of criminals

4. ¥ Criminality.

Question Number : 116 Question Id : 97675519720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SMTRTIYS ANIT BT I & forT Hegad= UeH #Rep MR1Y &Y fAufEd s g
Options :

1. % SORTIERT I fRuem

2. % (ORI BT gHaNT

3. % (ORI Pt gRUW

4. ¥ SURTYHAT

Question Number : 117 Question Id : 97675519721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
While indicates intentions and attitude of indulging into criminal behavior; is an act against law.

Options :

1. ¥ Criminality, Crime

2. # Crime, Criminality

3. % Social norms, Criminality

4. # Criminality, cyber-surfing

Question Number : 117 Question Id : 97675519721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TR T, AT

2. % IORTY, TRTIEHT

3. % ISR AFSD, RIS
4. % S{TURTIIHT, ATSeR-THT

Question Number : 118 Question Id : 97675519722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Criminal psychology is the study of Criminal , which includes Personality, Attitude, Physiology, Learning, Motivation,
Thinking and other cognitive Factors which contribute to the act of crime or criminal intentions.

Options :

1. % History
2. ¥ behaviour
3. # Tendency
4. ¥ Records

Question Number : 118 Question Id : 97675519722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gfagr
2. ¥ dgRR
3. % Ugf

4. % fiyeral

Question Number : 119 Question Id : 97675519723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
This is the forum for intellectual property (IP) services, policy, information and cooperation which is a self-funding agency of the United Nations,



with 193 member states.

Options :

1. ® PCT — The International Patent System

2. ® Substantive Patent Law Treaty (SPLT)

3. ¢ World Intellectual Property Organization (WIPO)

4. ® Uniform Domain-IP Organization

Question Number : 119 Question Id : 97675519723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % pCT- fq SexAzHd ude Riew

2. % geRefeg ude & It (SPLT)

3. ¢ G0 SCa3{d UTUC] SNSRI (WIPO.)

4. % gABH SHF-3ME. . SFHISIRA

Question Number : 120 Question Id : 97675519724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Copyright Act, 1957 came into effect from

Options :

1. ® January 1957
2. % January 1959
3. ® January 1968
4. ¥ January 1958

Question Number : 120 Question Id : 97675519724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gfaferafdeR (@rdREe) ifdfFam, 1957 AN gl




Options :

1. % SHaRT 1957
2. % SaRl 1959
3. % STaRT 1968
4. ¢ STERT 1958
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Question Number : 121 Question Id : 97675519725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Littering, Improper waste disposal, Oil spills, Destruction of wetlands are examples of:
Options :

1. # Social crime

2. ¥ Environmental Crimes

3. ¥ Anti-green crime

4. % Ani-Eco crime

Question Number : 121 Question Id : 97675519725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FS1 B, SURTE HT Sfad MR, aa o1 e, samy &=t o1 faamr sife Fafifed o 9 feud IR g2
Options :

1. % AT ORTY

2. ¥ UGIeRUIY SIRTY

3. % gRa faRreh srorty

4. % TR faRielt SRy

Question Number : 122 Question Id : 97675519726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following ability is a combination of research skills, critical thinking skills, computer technology skills, and communication skills?
Options :

1. ¥ Information Literacy

2. # Information Secrecy

3. # Information retrieval

4. # Information Mining

Question Number : 122 Question Id : 97675519726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafeRad o @ o1 T &, ST SN, Hewdyu faTR Sl Hex et Sl 3R TaR HIE! & Jaie 82
Options :

1. & gIAT HI&RdT

2. % I MU

3. % g gV

4, % A1 g--d

Question Number : 123 Question Id : 97675519727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The IPC has Sections, of which are about punishments.
Options :

1. % 800, 200

2. % 450,200

3. ¥ 511, 330

4. % 501,3000

Question Number : 123 Question Id : 97675519727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR <8 dfgar (apc) | YRTe B, e | ds g A g
Options :

1. % 800, 200

2. % 450,200

3. ¥ 511, 330

4. % 501,3000

Question Number : 124 Question Id : 97675519728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Judiciary has the Supreme Court (S.C) at the apex having three-fold jurisdiction listed as follows, except one:



Options :

1. # original

2. # advisory
3. # appellate
4. ¥ Cordial

Question Number : 124 Question Id : 97675519728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ruTfereT § 3w Seray e (@) & O aanfer aFt § ufated § @ o aftifea 78t g2
Options :

1. ®# 4d

2. % TRTARI

3. % Ididig

4. TgTeyul

Question Number : 125 Question Id : 97675519729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As far as aims of punishment is concerned, the general deterrence is as follows, except one:

Options :

1. ® Make punishment swift and severe enough that people in the general population will not want to commit crimes

2. ¥ Belief that the pain of punishment should fall behind the benefits of crime.

3. # Prevention of criminal acts in the population at large can be gained by the imposition of punishment on persons convicted of crimes.

4. ® Belief that the pain of punishment should outweigh the benefits of crime.

Question Number : 125 Question Id : 97675519729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 126 Question Id : 97675519730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Imagine that a child is enjoying a specific class, such as gym or music classes at school, and a teacher removes him from that class and sends to
the principal’s office because he was misbehaving. This is an example of:

Options :

1. # preventive punishment
2. ® Corrective punishment
3. ¥ negative punishment

4. ® positive punishment

Question Number : 126 Question Id : 97675519730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® fRIUTHDS <8
2. % GYRIHD <8
3. ¢ THRIAD ¢S
4. % FHRIHD &8

Question Number : 127 Question Id : 97675519731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Credit card fraud is one of the most frequently committed types of:
Options :



1. # corporate crime
2. * traditional crime
3. # blue-collar crime

4. « white collar crime

Question Number : 127 Question Id : 97675519731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Figc Bre Tadt dRaTy<t, fog UBR 1 U Jaifdie fHar S ard SiiRTY 82
Options :

1. % PHIURS WY

2. % JRURD 3R1Y

3. % -9 (& PIeR) HURTY

4. ¢ 9T (RTIC BIAR) RTY

Question Number : 128 Question Id : 97675519732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

These are tiny, malicious card readers hidden within legitimate card readers that harvest data from every person that swipes their cards.
Options :

1. ¥ Skimmers

2. # Rootkit

3. ® Loggers

4. % Phishing

Question Number : 128 Question Id : 97675519732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ fepad




2. % Bcfdbe
3. % AN
4. % iR

Question Number : 129 Question Id : 97675519733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a good idea to defeat skimmers and shimmers:
Options :

1. # never share your ATM PIN with any stranger’

2. # Use contactless payments

3. ¥ Frequently check bank statements

4. % shield your PIN

Question Number : 129 Question Id : 97675519733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofRed o O 3 91 fawey, P SR R &1 R a3 &1 T 3ferd 9aR 781 82
Options :

1. % 301 TEITH (ATM) TUF (PIN) Tt SroTelt & Ty Tr=im =1 &

2. % JUHRIEd YA BT YT B

3. ¢ Taffa &0 ¥ dF f9avor o1 S H8

4. % 310 o fvumg

Question Number : 130 Question Id : 97675519734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The events of breaking into the secure area, storing data or sneaking into any restricted part of the building, damaging or stealing the crucial IT
assets, or uploading some malware into the entire system lie in the scope of:

Options :
1. #® Organizational Integrity

2. % Organizational Non-repudiation



3. # Cyber Security
4. ¥ Physical Security

Question Number : 130 Question Id : 97675519734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gTeH® qafs

2. % TGS 3f- FRIHROT

3. % IgeR GRAT

4.« YfAd ReM

Question Number : 131 Question Id : 97675519735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The measures such as security policies like biometric and ID card restrictions represent and burglar alarm, guards,
and CCTYV represents

Options :

1. ¥ Access Control, Surveillance
2. % Authentication, Non-Repudiation
3. ¥ Access control, non-Repudiation

4. # Surveillance, access control

Question Number : 131 Question Id : 97675519735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ ug"%fﬁnam, fdar (Access Control, Surveillance)




2. % WTUWUT, 31- fARTHRr (Authentication, Non-Repudiation)
3. # 1ZIEV?J fTT, - fARTPRUT (Access control, non-Repudiation)
4, % Hﬁam, Utﬁ\fa fATAT (Surveillance, access control)

Question Number : 132 Question Id : 97675519736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following act is not a desired option for ensuring physical security?
Options :

1. # Making use of anti-virus and anti-malware protection.

2. # Configuring and monitor the privacy settings of your application deliberately.
3. % Allowing device clearing and remote location through apps

4. ¥ Enabling the automatic backup feature

Question Number : 132 Question Id : 97675519736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % US-IRY 3R TET-HAaTR GRET HT SUINT H=AT

2. % 3O URIHTA B Mu-Taar AT &) Iuarg SIRpTR HAT 3R IR ST
3. % U o A1 ¥ fSarsy FiiaiaT 3ik Rule didh=H &1 Sigafd ¢

4. « T o3 fa=ISar Tem ol

Question Number : 133 Question Id : 97675519737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The main concept of is that every person should respect the rights of another and to help each other in case any of their
rights have been abused or violated.

Options :
1. #® Civic rights
2. % human rights




3. % Social rights
4. % Moral rights

Question Number : 133 Question Id : 97675519737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® 9IRS HYPR
2. ¢ HHd AYBR
3. % AN fTHR
4. % Afg® RBR

Question Number : 134 Question Id : 97675519738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The famous Vedic quote “let everyone be happy, let everyone free from all ills”, describes the following rights.
Options :

1. * Natural rights

2. % Humanitarian rights

3. ¥ human rights

4, % Cultural relativism

Question Number : 134 Question Id : 97675519738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Yipidd HUBR



2. ® HHadarg! fYeR
3. ¢ A4 3YBR

4. % IRPfaP AUeEG

Question Number : 135 Question Id : 97675519739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

These fundamental rights are the most important provisions of the Indian constitution and are considered to be essential for the human being to
live peacefully and with liberty in the country.

Options :

1. # Article 15 to Article 21
2. % Article 1 to Article 7
3. # Article 7 to Article 14
4. ¥ Article 14 to Article 31

Question Number : 135 Question Id : 97675519739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 3G 15 9 3Jw™q 21

2. % 3Jwq 1 9 J™a 7

3. % 3fJwdq 79 TG 14

4. FTHE 14 ¥ 3IHq 31

Question Number : 136 Question Id : 97675519740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the Constitution of India which of the following is not a human right?
Options :

1. ¥ Right to Health Care



2. # Right to equality
3. % Right to freedom of religion,
4. # Right to freedom

Question Number : 136 Question Id : 97675519740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & Gfae™ & SIOR, FfaRed & ¥ & U ArMd SfeR 761 /7
Options :

1. ¥ W [l BT HUDR

2. % A DI HYBR

3. % YT WA BT YR

4. % JTATCI BT HYBR

Question Number : 137 Question Id : 97675519741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Upgrading the locks on your doors, windows, sheds and outbuildings, fitting sash jammers to vulnerable doors and windows and using secure
passwords to prevent criminals hacking your online accounts are the measures of:

Options :

1. # Reducing the means
2. % Target Hardening

3. ¥ Reducing the payoff

4. ¥ Target removal

Question Number : 137 Question Id : 97675519741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I el




2. ¥ AT TGIHRUI
3. % YfdgM g™l
4. % &I I

Question Number : 138 Question Id : 97675519742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Locking your doors and windows to both your house and your vehicle, ensuring that fencing, hedges, walls and other boundary treatments are in
a good state of repair and putting a security system in place at a commercial site (entry barriers, security guards, ID cards) are the measures of:

Options :

1. % Target removal

2. # Environmental changes
3. ¥ Access Control

4. % Surveillance

Question Number : 138 Question Id : 97675519742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® T&T IHIH

2. % qgiaRuity uRad—

3. ¢ Ugd a0

4. % FRF (Ifdar)

Question Number : 139 Question Id : 97675519743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a mental health condition that's triggered by a terrifying event — either experiencing it or witnessing it.

Options :
1. ¥ Post-traumatic stress disorder (PTSD)



2. # Pre-traumatic stress disorder (PTSD)
3. % Post-traumatic stress deficiency (PTSD)
4. ® Post-traumatic sufferers' disorder (PTSD)

Question Number : 139 Question Id : 97675519743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ YT gyTd d=1d fdbR (PTSD)
2. % YT 4 a4 [d®R ( PTSD)
3. % S{IYYTd UYTd d+1d =TT (PTSD)
4. % 3T gyTd Uifed faeR (PTSD)

Question Number : 140 Question Id : 97675519744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which act of legislation deals with the economic crime and evasion of excise?
Options :

1. ® IPC

2. % Central Excise and Salt Act, 1944

3. % Banking Regulation Act, 1949

4. ¥ COFEPOSA, 1974

Question Number : 140 Question Id : 97675519744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YR <8 Figdr (IPC)

2. ¢ HE I ed 3R THS SMAFTH, 1944




3. % Sfdr fafme sifdfam, 1949
4. % PHIBUNIT (COFEPOSA), 1974

Discipline3
Group Number : 8
Group Id : 976755657
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3
Section Id : 9767551087
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551262
Question Shuffling Allowed : Yes
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Economic offences, such as counterfeiting of currency, financial scams, fraud, money laundering, etc. are crimes which evoke serious concern
and impact on the:

Options :

1. # Nation's Law and order

2. # Nation's Heritage

3. % Nation’s security and governance

4. # Nation’s economy

Question Number : 141 Question Id : 97675519745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Options :

1. % P Bl B TR

2. % Y P faRrad

3. ¥/ 1Y 1 YR&M 3R SHHRA
4, % Y DI SSTaRIT

Question Number : 142 Question Id : 97675519746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This task involves identifying, assessing, and treating threats to the confidentiality, integrity, and availability of an organization’s assets.:
Options :

1. ¥ Information security risk management

2. # Information security Framework

3. % Information security policies

4. # Information security taskforce

Question Number : 142 Question Id : 97675519746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 143 Question Id : 97675519747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following task which if performed comprehensively, enables one to verify the security status of all the company’s infrastructure: hardware,
software, services, networks and data centres.

Options :

1. # IT Laboratory set-up

2. # IT infrastructure recording
3. # IT cell documentation

4. ¥ 1T security audit

Question Number : 143 Question Id : 97675519747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 375 Y. TORTRITS RITUAT

2. % 373, JTUAT B Nap1faT
3. % IR YD BT ffierad

4. 315 8. GRE ARG

Question Number : 144 Question Id : 97675519748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following has a significant impact on international human rights law?
Options :

1. # The World Economic Forum

2. % UNHCR The Human Refugee Agency

3. # The United Nations

4. ¥ World Conference on Human rights

Question Number : 144 Question Id : 97675519748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed & O fhae, ARSI AMaeR SIH IR U Ieeia-d UHTd 6?2
Options :

1. % fay onfdfe b9

2. % g AT 3R, (UNHCR) Aa TROMAT ffiamror

3. % Y IY Y

4. ¢ HHATYPRI TR 3y T

Question Number : 145 Question Id : 97675519749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NHRC of India is a unique institution because it is one of the few National Human Rights Institutes (NHRIs) in the world whose chairperson is
the:

Options :

1. #® Prime Minister of India

2. % Former Défense minister

3. ¢ former Chief Justice of the country

4. ¥ Former law Minister

Question Number : 145 Question Id : 97675519749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YR T AP AHATIDHR SN (NHRC) T SHigdiid W13 & Hifeh Ug [y H TY o AP AMA SUSR AR (NHRI) H 4 TH &,
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Options :

1. % YRA & YUTEA §

2. % Yqud UfoRen i 8

3. ¥ TR & Ydqd T Teisr §

4. % ydud fafy = §

Question Number : 146 Question Id : 97675519750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This section defines Human Rights as the rights relating to life, liberty, equality and dignity of the individual guaranteed by the Constitution or
embodied in the International Covenants and enforceable by courts in India.

Options :

1. ¥ Section 2(1) (d) of the PHR Act
2. % Section 3(1) (d) of the PHR Act
3. % Section 4(1) (d) of the PHR Act
4. ® Section 5(1) (d) of the PHR Act

Question Number : 146 Question Id : 97675519750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tg Hffygw, Ara BRI &) safad & Sitad, ITSeT, JHT, 3R TR § Fafdd iRl & U § miRyifia &xar g, e i
GRITRET 1 715 § 1 SIaRRTPI AT & FHTafRid $fR R o =Arrerdl gRT Yaa-14 g |

Options :

1. ¢ A4 DR A& HTAATH BT 3w 2(1) (d)

2. % TG SMRIBR TRE AT BT 3w 3(1) (d)

3. % TG AFUBHR TRE0T ITTH o7 3Twda 4(1) (d)

4. % AMJ SHABR TAR&0T AT BT 3¢ 5(1) (d)

Question Number : 147 Question Id : 97675519751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In research methodology, the hypothesis is written in two forms, the hypothesis, and the hypothesis.

Options :

1. % Descriptive, Short
2. % Formal, Informal
3. ¥ Null, alternative

4. # Former, later

Question Number : 147 Question Id : 97675519751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST fohanfafd o, aReheumT (STSUIRM) &1 g1 W&l | forar Sran § ORI, 3R RGBT
Options :

1. % qUiATE®, Higd

2. % TR, SN

3. ¢ 3(Fd, Ih D
4. % gdad, 3radf

Question Number : 148 Question Id : 97675519752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Research methods are specific procedures for collecting and analysing data that leads to following types of analysis, except one:

Options :

1. # Qualitative and quantitative
2. # Primary and secondary

3. % Descriptive and experimental

4. ¥ Affirmative and assertive

Question Number : 148 Question Id : 97675519752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ST foranfafdal, Se1 AUgur 3R 36 fa=aiiNd - 3! fafRmy ufhart gt &, fom fory 9 arel faxawon o Fafafea g9 &
affera 7€l 82

Options :

1. % TOMAS 3R AEATHD

2. % YA 3R fgdius

3. % GUHATEHSD 3R TS

4. ¢ UfoRIMTH® iR HearaTs

Question Number : 149 Question Id : 97675519753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The scientific research in several disciplines, including DNA, ballistics, fingerprint analysis, trace evidence, and digital, among others come
under the scope of:

Options :

1. # Criminology

2. % Forensics

3. % Malware analysis

4. # Cipher experts

Question Number : 149 Question Id : 97675519753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3ORTY fag=

2. ¢ fafdfafearmd

3. % TR fazawor

4. % grHR ORI

Question Number : 150 Question Id : 97675519754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

This branch deals with the handling, examination and evaluation of dental evidence in criminal justice cases. The experts in this area are involved
in assisting investigative agencies to identify recovered human remains in addition to the identification of whole or fragmented bodies.

Options :

1. ¥ forensic odontology
2. # Forensic anthropology
3. # Forensic astronomy

4. # Forensic epidemiology

Question Number : 150 Question Id : 97675519754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ faffafrcaemd siisierarsit (g Ued)

2. # fafefeferamRd GUTarsh

3. % foffafercmma e

4. % fafafafb e TfsHmTST

Question Number : 151 Question Id : 97675519755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a branch of Applied Psychology?
Options :

1. ¥ Media psychology

2. # Clinical psychology

3. % Forensic psychology

4. # Sports psychology

Question Number : 151 Question Id : 97675519755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 &F I, Sruged A &1 Uh AT Tal 82
Options :

1. ¢ Hifear gifas™

2. % IS AAIGTH

3. % faf¥-Fafecmemea T=ifas™

4. ® WAPG HAITGTH

Question Number : 152 Question Id : 97675519756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following branch of Psychology deals with hiring, employee productivity, performance management, training and organizational culture:
Options :

1. # Clinical psychology

2. ¥ 1/O psychology

3. % Forensic psychology

4. # Sports psychology

Question Number : 152 Question Id : 97675519756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g% gAfaTH

2. ¢ MANMH-TiTs % TR

3. % faf fafecmsma gaifas™

4. % QAGHS AN

Question Number : 153 Question Id : 97675519757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

These processes are initiated by the brain that does an enormous amount of cognitive work all the time, taking in information and transforming it,
storing it, recovering it, and putting it to work.

Options :

1. * Integrity processes

2. % Interpersonal processes

3. % Cognitive Process

4. % Soft Skills processes

Question Number : 153 Question Id : 97675519757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3Gsdl UshH

2. % 3fddafaads uHH

3. ¢ GIHTHD UchH

4. % Tgd DI UehH

Question Number : 154 Question Id : 97675519758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Imagine you’re at the Cloth store, making your shopping excursion. You look for the outfits you need, make selections among different brands,
read the signs in the aisles, and work your way over to the cashier and exchange money. All of these operations are examples of cognitive
processing. The speed of these processes dictates our responses to stimuli, known as our:

Options :

1. # Efficiency
2. # Recall

3. % Precision

4. % Reaction time



Question Number : 154 Question Id : 97675519758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % q&dl

2. ® Ydigdld

3. % URYLG

4. + yfdafear g

Question Number : 155 Question Id : 97675519759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This is primarily concerned with assessing conditions that affect brain health, such as Alzheimer's and traumatic brain injury, and with evaluating
how neurological functioning can affect mental health.

Options :

1. ¥ Neuropsychology
2. # (linical psychology
3. % Social psychology
4. # Bio psychology

Question Number : 155 Question Id : 97675519759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¢ dR® T T
2. % AgIH® T




3. % QSIS AR
4. % 3G AAIfaE

Question Number : 156 Question Id : 97675519760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Clinical neuropsychologists conduct psychometric assessments to measure:
Options :

1. # Physiological health

2. ¥ neurological health

3. ¥ Mental health

4. # Psychological health

Question Number : 156 Question Id : 97675519760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SeTfe diRBERIRTT fhgd A1o & e FifEdia Jeaied &4 82
Options :

1. % RIS WA

2. ¢ A WY

3. % AHR® Wy

4. % THAIAYIS W

Question Number : 157 Question Id : 97675519761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a non-cognitive process?
Options :

1. ¥ Integrity

2. # Attention

3. % Perception



4. ¥ Learning

Question Number : 157 Question Id : 97675519761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafifed & @ 1 te IR-GIHIHSD UHH 22
Options :

1. ¥ GAMg

2. % ¥

3. % 9y

4. % 3{fATH

Question Number : 158 Question Id : 97675519762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The issues of child custody and workplace discrimination can best be handled by a:
Options :

1. % Clinical psychologist

2. # 1/O psychologist

3. ¥ Forensic psychologist

4. % Sports psychologist

Question Number : 158 Question Id : 97675519762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

|, % g% AAaTHD

2. % 3ENf1e-giTs e AAlaTeG

3. ¢ fafy-fafercamemea wame

4. % QDS HAIATD




Question Number : 159 Question Id : 97675519763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Your can compel you to take action and influence the decisions you make about your life, both large and small.

Options :

1. % Age

2. ¥ Emotions
3. % Capabilities
4. ¥ Qualities

Question Number : 159 Question Id : 97675519763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 3
2. ¢ UTGHd
3. % &Han
4. % 07

Question Number : 160 Question Id : 97675519764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Emotions are influenced by a network of interconnected structures in the brain that make up what is known as the:
Options :

1. # Cortex

2. ¥ Limbic system.

3. #® Cerebral cortex

4, % Prefrontal cortex



Question Number : 160 Question Id : 97675519764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTaTT, HiETSs H Al Txameh & f5g Ioret (ead) ¥ UHId gld 8, 98 999 0 § ufafad # 3 g fFafor edr g2

Options :

1. % ORI TidT

2. ¢ JUdepe g oA
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4. % RIGEY UiaT
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Question Number : 161 Question Id : 97675519765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The five major perspectives in are biological, psychodynamic, behavioral, cognitive and humanistic.
Options :

1. # Phytology

2. # Ecology

3. % Psychology

4. ¥ Oncology

Question Number : 161 Question Id : 97675519765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIfdep, AT, GERI, TFTIHD 3R HHddEret, A T Ui U uRueg g |
Options :

1. % Urquidxi=

2. % gIRfRUfdewfag™
3. ¢ TAIfaH

4. % HIR fagH

Question Number : 162 Question Id : 97675519766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If your layperson's idea of psychology has always been about people in laboratories wearing white coats and watching hapless rats try to
negotiate mazes in order to get to their dinner, then you are probably thinking about:

Options :
1. # Cognitive psychology
2. # Social psychology



3. # Clinical psychology
4. ¥ Behavioral psychology

Question Number : 162 Question Id : 97675519766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IS FAIfOIHE

2. % TSI AR

3. ® e gAfagH

4. ¥ HAGRIA AAIfaTH

Question Number : 163 Question Id : 97675519767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to experiments and models, this is an important tool in experimental research and is essential for the reliable interpretation of
experimental results.

Options :

1. ¥ Statistical analysis
2. # Structural analysis
3. * Numerical analysis

4. % Algebraic analysis

Question Number : 163 Question Id : 97675519767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Hias1g fageiwur




2. % TEANTd fawayo
3. % 3fifdhep faayor
4. % TOTCHY fa<erooT

Question Number : 164 Question Id : 97675519768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

These methods are tools applied to situations in which we encounter variability, noise and uncertainty. They help make more definitive scientific
conclusions, and to make better use of available resources.

Options :

1. % Augmentable
2. ¥ Statistical

3. % Structural

4. ¥ Neural

Question Number : 164 Question Id : 97675519768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ffiaeig

2. ¥ gifkag®

3. % IR

4. % dRPT

Question Number : 165 Question Id : 97675519769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following term represents the function of gathering resources, establishing orderly uses for such resources and structuring tasks to
fulfill organizational plans?

Options :



1. ¥ Organizing
2. # Segmenting
3. % Capturing

4. # Supervising

Question Number : 165 Question Id : 97675519769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ G HAT

2. ® Jaiffpd B

3. #® YUgul

4. % qOdeu

Question Number : 166 Question Id : 97675519770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank:
The end result of the organizing process is an organization - a whole consisting of unified parts acting in to execute tasks to
achieve goals, both effectively and efficiently.

Options :

1. ¥ Harmony
2. # Discord
3. % Dissention

4. % Variance

Question Number : 166 Question Id : 97675519770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ GEIfd

2. % AT (IRATHORY)

3. % faqmfd

4, % ST

Question Number : 167 Question Id : 97675519771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to cognitive therapy, the activity of identifying distorted or self-defeating patterns, and learning to respond to them with more
balanced, reality-based thinking represents:

Options :

1. # Cognitive diffusion

2. ¥ Cognitive restructuring
3. % Cognitive Reframing

4. # Cognitive behavioral therapy

Question Number : 167 Question Id : 97675519771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS IR & T H, faxefid a1 - R R ufaredl (@eqt o fafgd & aur 3iR eifiie dqferd, gurddr-smemia faer ufssar
& 1Y 3 IR Ufdferar e draq &1 fafafyy, Fafeied o 9 ford Fefid el 82

Options :

1. % TS faaRor

2.  GIATHS T (THI6)

3. % IIATHD TIHHA

4. % IYJIHTHD HAdeRITd IUIR

Question Number : 168 Question Id : 97675519772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following therapy is used to treat psychological issues with seven different aspects such as, behavior, affect, sensation, imagery,
cognition, interpersonal factors, and drug/biological considerations?

Options :

1. # Cognitive therapy

2. % Dialectical behavior therapy (DBT)

3. ¥ Multimodal therapy

4. # Rational emotive behavior therapy (REBT)

Question Number : 168 Question Id : 97675519772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IJHATHD ITAR

2. % ggId® HAdgR SUTR (DBT)

3. ¥ §gidY ITAR

4. % qlfches HTATHS TGER SUAR (REBT)

Question Number : 169 Question Id : 97675519773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Applied development psychology deals the three domains of development, given below, except one:
Options :

1. % physical

2. # cognitive

3. % psychosocial

4. ¥ gpiritual

Question Number : 169 Question Id : 97675519773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

S Iorgad fasr Feifas, FafaRad & O feae Riar faem & iF fasae=t @ Sefta g2
Options :

1. % RN (W)

2. % WIATHB

3. % HAGHIND

4. NANAD

Question Number : 170 Question Id : 97675519774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Applied development psychology deals the three issues in development, given below, except one:
Options :

1. #® continuity and discontinuity

2. ® nature versus nurture

3. ¥ human or unhuman behavior

4. ® one common course of development or many unique courses of development

Question Number : 170 Question Id : 97675519774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fRoRar iR sifRavd

2. % YHfd S99 Yyop

3. ¢ OHAY 1 S dgR

4. % TP AN fdmr A1 a1 3 g fasmma anf

Question Number : 171 Question Id : 97675519775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who used the term Indian psychology, in 1910 in one of his writings on education?
Options :

1. ¥ Sri Aurobindo

2. # S. K. Maitra

3. # D. P. Chattopadhyaya

4. % A, Nilbaran Roy

Question Number : 171 Question Id : 97675519775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ ot 3Rfa=<T

2. % TSP, T

3. % S TgiureEr

4. % T HdeRA Feaul) da

Question Number : 172 Question Id : 97675519776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to Indian Psychology, the Mind—matter is understood to be the operation of three fundamental principles. Choose out the misfit
option.

Options :

1. % Sattva
2. % Aham
3. #* Rajas

4. % Tamas

Question Number : 172 Question Id : 97675519776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % dd
2. % 3gH
3. % Y
4, % dEHY

Question Number : 173 Question Id : 97675519777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following technique are the newest addition to cognitive behavioral therapy?
Options :

1. ¥ Mindfulness

2. % Multitasking

3. % Physiotherapy

4. # Aerobics

Question Number : 173 Question Id : 97675519777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa & § o @ deiie, IIHES TaeRTd IUIR # Ad-ad gRadH g2
Options :

1. ¢ TARISITAT

2. % §gHT

3. % Uifae fafea

4. % grargef (QRTaHT)

Question Number : 174 Question Id : 97675519778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
This refers to how an organization’s members work together to get things done.
Options :



1. ¥ Group process
2. % Group tasks
3. % Group domains

4. # Group culture

Question Number : 174 Question Id : 97675519778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fora TefeId & o ford oRg A U TG & e, B U R & fore freieny b1 Hed 82

Question Number : 175 Question Id : 97675519779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Effective organizations take a close look at how members work together, which roles they fill and whether members are contributing equally.
Which mechanism for observation and analysis is used to identify problems early in such organizations?

Options :

1. # Group leadership
2. ¥ Group processes
3. % Group Dynamics
4. ¥ Group productivity

Question Number : 175 Question Id : 97675519779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JUTE! TS ST YT I SAh Bl g [ Tew [y die fHadH: S 1d &, d T YHwrsii 7 €, 3R Tewior 99qH U 9§
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Options
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Question Number : 176 Question Id : 97675519780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following task is necessary for establishment of a systematic setup where employees are instructed and taught matters of technical
knowledge related to their jobs?

Options :

1. # Research

2. # Consultancy
3. ¥ Training

4. % Development

Question Number : 176 Question Id : 97675519780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T VT iRy & a1 R B & forg Fafered & @ o a1 Ruffed orf sifard 8, STet eremt 3refRd 8f 3ik 3! iefal §
HefId d-ie! I & ATHA! O I S(aiTd ST 1T 812

Options :

1. ® 3IHYH
2. % R
3.« IR7E[0
4. % fadbrg

Question Number : 177 Question Id : 97675519781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following task refers to the overall holistic and educational growth and maturity of people in managerial positions to adapt to



insights, attitudes, adaptability, leadership and human relations?
Options :

1. ¥ Growth

2. # Environment

3. % production

4. ¥ Development

Question Number : 177 Question Id : 97675519781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifea 7 3 & o Rufa o, siaedar, ‘e’f@ﬁvﬁ R, A 3R AT Gaeif ¥ 3P B & 1T ysyaIg ue aral
T T g 3R M gy SR IRTH I Tl 22

Options :

1. ® gig

2. % ggfaRu/afeawT
3. ® 3dlad

4. ¢ faorg

Question Number : 178 Question Id : 97675519782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following teaches how to harness the power of shifting one’s perspective to maximize the potential for happiness in many of our
everyday behaviors?

Options :

1. ¥ Positive psychology

2. # Traditional psychology

3. # Toxic positivity psychology
4. # (linical psychology

Question Number : 178 Question Id : 97675519782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad @ 9 & 91, gHR ¢ Sitad & 3Hd HGgR] H GIR! 1 FHIETS fddd B & U gHR TS0 &1 RIFIART #3 1
TIfad BT ITANT BT RIATT 82

Options :

1. ¢ IHRIAD AT

2. % URURS AT

3. % [quTad YHRIASHAT AT

4. % A% TAfaTH

Question Number : 179 Question Id : 97675519783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the two concepts of “the self' and “the subject', who introduced the psychoanalytic theory?
Options :

1. # Erikson

2. % Adler

3. # Lacan

4. ¥ Freud

Question Number : 179 Question Id : 97675519783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@ 3R faw BT &1 SAYRUMSH & YR R, FAIa=aNe Rigid &1 ufcure Fafafed & 9 fora foar ur
Options :

1. * TR

2. ® TSR

3. % APH

4. ¥ pIUS

Question Number : 180 Question Id : 97675519784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



According to the Freud, the personality is composed of three elements given as follows, except one:
Options :

1. ¥ The password

2. % Theid

3. % The ego

4. ¥ The superego

Question Number : 180 Question Id : 97675519784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

hIIS & IR, Afaad diF dadl o fd®R a1 81dT 7, S - iU T8 § 1 378 ¥ 14 91 T 181 82
Options :

1. ¢ Ods

2. % 318, 3.

3. % 3fgH
4. % WRIgH
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Question Number : 181 Question Id : 97675519785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following lies outside the scope of listening?

Options :

1. # To critically assess what is being said.

2. ¥ To react the non- through verbal signals

3. # To observe the non-verbal signals accompanying what is being said to enhance understanding.

4. % To show interest, concern and concentration.

Question Number : 181 Question Id : 97675519785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 &1 91, g & SRR A T 87

Options :

1. % S $Hl 3@ 7, ITDT SAdIHD Jed i Bl

2. ¥ 3RMMead Adbdl &b AT J UfdfehadT &1

3. % gAY Gaftid & & AU, Bl 31 5! [aTaad & A1 SRMMfecd G Bl A Bl
4. % WY, WHR AR THId TeRid &A1




Question Number : 182 Question Id : 97675519786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following theory is an important social-cognitive skill that involves the ability to think about mental states, including emotions,
desires, beliefs, and knowledge of your own and those of others?

Options :

1. ¥ Theory of mind

2. # Theory of body

3. # Theory of behavior
4. # Theory of soul

Question Number : 182 Question Id : 97675519786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o ¥ oH 91 RIGid, e Tg<aqu] AN - SIS DRI ¢ o 3TUD! W9 B adl GERI dI Hia-Tel, srabienad, fayrat
3R T Gt AR Srawuail & IR & W BT e A 82

Options :

1. ¢ T4 &1 Rigid

2. % YRR &1 Rl

3. % dgR &I Agld

4. % T T R

Question Number : 183 Question Id : 97675519787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The greatest growth of the ability of attributing mental states is believed to take place primarily during the ages of:
Options :

1. % 10 and 15

2.% 3and>5.

3. % 18 and 25

4, % 6and9



Question Number : 183 Question Id : 97675519787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AHRIP HTRITE AR B DT &HdT B Faiie gig TRadar Fafafad & 3 g smg & SR A St 82
Options :

1. % 10 3R 15

2. ¥ 3 3R 5.

3. % 18 3[R 25

4.% 639

Question Number : 184 Question Id : 97675519788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
enhances learning; we grow our mindset when we listen, process, and understand differences.
Options :
1. # Validity
2. * Verifiability
3. % Diversity

4. % Generosity

Question Number : 184 Question Id : 97675519788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIFEATH Fafdid Rl &; 919 g1 3R] B A, ThiHd Hd, 3R THSA § o) SHRI ARGl fadb Rid gkl ¢ |
Options :
1. % Qe
2. % JAOH-GHTST
3. ¢ fafdear
4. % 3aRkdl

Question Number : 185 Question Id : 97675519789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
State whether the following statements are true or false:

I. We all have biases and filters.
II. diversity can never enhance learning

Options :

1. # 1. True II. True
2. ¥ 1. True II. False
3. # I. False II. True
4. # 1. False II. False

Question Number : 185 Question Id : 97675519789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gant fo fFufafed sy 98 g a1 Tad &

1. A 9 & 3UA yaiug SR 3t 994 (fheex) B B |
1. fafaerar et off sifermm Tae 78t o) gt
Options :

1. % . I8l 1L Ta!

2. ¢ 1. @I 11 Ted

3. % [77d 1L &t

4. % 7Ad 11 7Tad

Question Number : 186 Question Id : 97675519790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

development attempts to improve an individual’s effectiveness in practice, while development focuses on ways to
improve an organization’s overall productivity, human fulfillment, and responsiveness to the environment

Options :
1. # Personal, organizational
2. # Individual. Professional

3. ¥ Professional, organizational



4. % Organizational, Professional

Question Number : 186 Question Id : 97675519790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fawy, afad &1 SaTagIRe YU & GUR &1 YA &l 8, STafd fAh T, TS &l Hol SdTGahdl,
AHd TP, SR yafaror & ufd ufafesareiedr & gur & ot R Hfad giar g
Options :
1. ® Jufdaes, AFTSHE
2. % HfGdTd. il
3. ¢ gRid, RTSHSD
4. % TS, gt

Question Number : 187 Question Id : 97675519791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Effective organizational development can assist organizations and individuals to cope with:
Options :

1. % Competition

2. % Downfalls

3. #® Crises

4. ¥ Change

Question Number : 187 Question Id : 97675519791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS T A, FafeiRad & I fordeT Imm1 o3 & TeH1 3R Afddl Bl Tedl R Johdl 82
Options :

1. % gfoegef

2. % fiRTac

3. % Hhbe




4. ¢ URadA

Question Number : 188 Question Id : 97675519792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In HRM research, there are two schools of thought on how to manage people, the first one is the , the second is
Options :

1. ¥ best fit, best practices

2. # best first, best practices

3. % best fit, best first

4. ® best first, best served

Question Number : 188 Question Id : 97675519792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QEL&HI.@.(gW)WWﬁ,WﬁWWﬁW%W@WW%W@W 3R g
I

Options :

1. ¢ garaH Sugad, FaraH faferr

2. % Farq gauyy, garad fafar

3. % garaH I9gad, JardH gauid

4. % gdIaH GagYH, Farad Jfdd

Question Number : 189 Question Id : 97675519793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following attribute is not relevant to selective hiring?
Options :

1. % Ability

2. ¥ Scalability

3. # Trainability

4. % Commitment



Question Number : 189 Question Id : 97675519793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ &9 91 701, 9T Hgfad ¥ Hafed 781 62
Options :

1. % &HdI

2. ¢ faER&Md

3. % QfRI&0T GHTT

4. % gfaegd

Question Number : 190 Question Id : 97675519794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

explores human nature, the psyche, and why people behave the way they do whereas explores the art of influencing
human behaviour to make certain purchase decisions. It’s no surprise that these two areas converge.

Options :

1. # Commercialization, planning
2. # Psychology, commercialization
3. % Advertising, Psychology

4. ¥ Psychology, Advertising

Question Number : 190 Question Id : 97675519794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HHA A, ARG, TUT TR T IR B &, 991 i HRd §, S9D HRUN BT A0 Bl § Sdlid
fAf3a Tig & fAvfa HA & fore UHd TagR & gHITAd 6 Bt HaT BT 3V HdT & | T8 NYTS-d ol @ b A ST &F TRER
fraRa g |
Options :
1. % grfordieur, g
2. % TIAH, TOTHRT

3. % fQ3uE, AAIfag™




4. ¢ TR, faqmo=

Question Number : 191 Question Id : 97675519795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

These are well-established social constructions in terms of gender stereotypes, or the beliefs and expectations people hold about the typical
characteristics, preferences, and behaviours of men and women.

Options :

1. % Gender qualifications
2. ¥ Gender roles

3. % Gender characteristics

4. % Gender capabilities

Question Number : 191 Question Id : 97675519795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 diffres Ffeal a1 3 fayrl iR sremaft & fawg & Grfid [T R & S @t = gt 3fk Afgarsit & uRedt deml, adorarsit
3R aeRI & fawa & sraeniva o i g

Options :

1. % ofiie argan

2. ¢ it YftreTd

3. % Qifiep OT

4. % i &y

Question Number : 192 Question Id : 97675519796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Between 3 and 6 years of age, children learn that gender is constant and can’t change simply by changing external attributes, having developed:
Options :

1. % gender stereotypes

2. % gender roles

3. % gender constancy.



4. # gender inequality

Question Number : 192 Question Id : 97675519796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 3R 6 T9 BI Y & AL I Ig WRad g 1 ol a7 @ik faep T 8 & a1e Had a1gd Uil & URafdd H3d §Y 3 Sean
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Options :

1. % e w=fear

2. % Affiie YA

3. ¢ CiffTe fRRRa

4. % i SEAMAT

Question Number : 193 Question Id : 97675519797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
State whether the following statements are true or false:

I. By the time we are adults, our gender roles are a stable part of our personalities
II. We usually hold many gender stereotypes.

Options :

1. ¥ 1. True II. True

2. # 1. True II. False
3. # I. False II. True
4. # 1. False II. False

Question Number : 193 Question Id : 97675519797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gant fo fFufafed sy 981 g a1 7ad @

. BHR 99 g1 dob, BHRY <ifile YHPTY, FHR Ufckicd T Teb RITHY 3T & SITclt & |
1. UT%: BURI 3 fies Tfedi gidt 81




Options :

1.+ 1. 9al 1. Tal

2. % [ 9@l L TTed
3. % 1.7dd I Fal
4. % 7Ad 11 7Tad

Question Number : 194 Question Id : 97675519798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This theory postulates that adults’ heavy focus on gender leads children to pay attention to gender as a key source of information about
themselves and others, to seek out any possible gender differences, and to form rigid stereotypes based on gender that are subsequently difficult
to change.

Options :

1. % Social learning theory

2. ¥ Developmental intergroup theory
3. #® Gender schema theory

4. ® Discriminating intergroup theory

Question Number : 194 Question Id : 97675519798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Rigid SRSl il & fob o (W) IR agwe! gRT srafties e dhfed fbU o 4 &=, 310 3R GORI & IR H TSR] & Uq@
OId & =0 |, Bls YHIAd i 3R Wi & forg, 3R foit smenfya Uit 2¢ wfeal Ffifa o & fou form R e 29 annd €, o ae o
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Options :

1. % gt MR fRrgia

2. ¢ faeTaraTs siqdyg figid

3. % A AeY Rigid

4. % YGRS Sfayyg Rgid

Question Number : 195 Question Id : 97675519799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The terms thoughts, feelings, and behaviors include all of the that are measurable in a human being.
Options :

1. ¥ Psychological variables

2. # Subconical variables

3. # Sociological variables

4. % Cognitive variables

Question Number : 195 Question Id : 97675519799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faem, ergyfaat oiR soaeRl & Uel & 3 Iuft Tfyferd €, S Aa o A= B
Options :

1. ¢ TS &R

2. % 3o W

3. % YHGRAEN™ TR

4. % IGIHATHD R

Question Number : 196 Question Id : 97675519800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The major event of the following period was the development of the theory of cognitive dissonance.
Options :

1. #® 1970s to 1980s

2. % 1940s to 1950s

3. % 1980s to 1990s

4. % 1990s to 2000s

Question Number : 196 Question Id : 97675519800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GIHIES Srdried & Rigid &1 fasr, afaled O 9 foy safy o g e die




Options :

1. % 1970 o GRIP T 1980 H1 TP
2. ¥ 1940 & GRIP T 1950 P TP
3. % 1980 & GRD Y 1990 P G
4. % 1990 o GRIP T 2000 HT GH

Question Number : 197 Question Id : 97675519801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The goal of social psychology is to understand and as they naturally occur in a social context, but the very act of
observing people can influence and alter their behavior.

Options :

1. ¥ Cognition, behavior
2. # Perception, attitude

3. % Recognition, character

4. # Intelligence, habits

Question Number : 197 Question Id : 97675519801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT HAIfG &1 ded 3R P gHSAT 7, SN fob TarHifass =u 3 grfere ey & gfed g1d &, afe e
3qeiich A ¥ AR U STIER P THIIT B Tobd & 3R 95 Ihd & |

Options :

1. ¢ UM, TAER
2. % qiy, TP
3. % JHHFH, IR
4. % g, 3mad

Question Number : 198 Question Id : 97675519802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
During this period of time the major attention seeking topics were attraction, and love, aggression and violence, social perception and social



exchange.
Options :
1. % 1980s
2. % 1990s
3. ¥ 1960s
4. % 2000s

Question Number : 198 Question Id : 97675519802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o THATafy & SR STHYUT 3R A, STHHET 3R 9T, T JgurEiY iR JrToie fafma 3fe fawal R ug@ = 4 e fean
ar?

Options :

1. # 1980 Pl aR[P

2. % 1990 Pl eR[H

3. ¥ 1960 DI qR[h

4. % 2000 hT cR[Ph

Question Number : 199 Question Id : 97675519803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This theory argues that gender roles are learned through reinforcement, punishment, and modeling.
Options :

1. ¥ Gender Learning theory

2. % Gender schema theory

3. ¥ Social learning theory

4. % Developmental intergroup theory

Question Number : 199 Question Id : 97675519803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 Rygid o1d% ¢ & A YfteTd ueem, < 3R snexffeur @isfen) gri i s 8|



Options :

1. % offiep sifermy Ryt

2. % qiffies TeY Rrgia

3. ¢ [T ST Rigia

4. % fqHNTES Siauqg Rigid

Question Number : 200 Question Id : 97675519804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Issues which received greater attention the following period were social cognition, attribution and the impact of environmental factors such as
heat, noise and crowding upon social behavior, gender differences etc.

Options :

1. #® during 1990s
2. % during 1980s
3. # during 1960s
4. ¥ during 1970s

Question Number : 200 Question Id : 97675519804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1990 P TP P SR
2. % 1980 % GRP B GRM
3. % 1960 P GIPH P SR
4. 1970 & TH b SR




